

RECEIVED

MAR 20 2009

PUBLIC SERVICE COMMISSION 421 West Main Street Post Office Box 634 Frankfort, KY 40602-0634 [502] 223-3477 [502] 223-4124 Fax www.stites.com

Mark R. Overstreet (502) 209-1219 (502) 223-4387 FAX

moverstreet@stites.com

March 20, 2009

HAND DELIVERED

Jeff R. Derouen Exeuctive Director Public Service Commission P.O. Box 615 Frankfort, KY 40602-0615

RE: P.S.C. Case No. 2009-00038 (Kentucky Power Company Environmental

Surcharge)

Dear Mr. Derouen:

Enclosed please find and accept for filing an original and ten copies of the testimony of Errol K. Wagner in the above proceeding. Also enclosed are Kentucky Power Company's responses to the data requests propounded pursuant to the Commission's Order dated February 12, 2009.

Very truly yours,

Mark R. Overstreet

Enclosures

cc:

Dennis Howard, II Michael L. Kurtz

Alexandria, VA Atlanta, GA Frankfort, KY Jeffersonville, IN Lexington, KY Louisville, KY Nashville, TN Washington, DC

COMMONWEALTH OF KENTUCKY

BEFORE THE

PUBLIC SERVICE COMMISSION OF KENTUCKY

IN THE MATTER OF:

AN EXAMINATION BY THE PUBLIC SERIVCE)
COMMISSION OF THE ENVIRONMENTAL)
SURCHARGE MECHANISM OF KENTUCKY)
POWER COMPANY FOR THE SIX-MONTH) CASE NO. 2009-00038
BILLING PERIODS ENDING DECEMBER 31, 2007;)
JUNE 30, 2008; AND DECEMBER 31, 2008)

KENTUCKY POWER COMPANY

DIRECT TESTIMONY OF ERROL K WAGNER AND

RESPONSES TO COMMISSION STAFF'S FIRST SET OF DATA REQUESTS

March 20, 2009

DIRECT TESTIMONY OF ERROL K WAGNER, ON BEHALF OF KENTUCKY POWER COMPANY BEFORE THE PUBLIC SERVICE COMMISSION OF KENTUCKY

CASE NO. 2009-00038

TABLE OF CONTENTS

I.	Introduction	1
II.	Background	1
III.	Purpose of Testimony	4
IV.	Conclusion	5

DIRECT TESTIMONY OF ERROL K WAGNER, ON BEHALF OF KENTUCKY POWER COMPANY BEFORE THE PUBLIC SERVICE COMMISSION OF KENTUCKY

I. Introduction

- 1 Q: PLEASE STATE YOUR NAME, POSITION AND BUSINESS ADDRESS.
- 2 A: My name is Errol K. Wagner. My position is Director of Regulatory Services,
- 3 Kentucky Power Company ("Kentucky Power, KPCo or Company"). My business
- 4 address is 101 A Enterprise Drive, Frankfort, Kentucky 40602.

II. Background

- 5 Q: PLEASE SUMMARIZE YOUR EDUCATIONAL BACKGROUND AND BUSINESS EXPERIENCE.
- 7 A: I received a Bachelor of Science degree with a major in accounting from
- 8 Elizabethtown College, Elizabethtown, Pennsylvania in December 1973. I am a
- 9 Certified Public Accountant. I worked for two certified public accounting firms
- prior to joining the Pennsylvania Public Utility Commission Staff in 1976. In 1982,
- I joined the American Electric Power Service Corporation ("AEPSC") as a Rate
- 12 Case Coordinator. In 1986, I transferred from AEPSC to Kentucky as the Assistant
- Rates, Tariffs and Special Contracts Director. In July 1987, I assumed my current
- 14 position.
- 15 Q: WHAT ARE YOUR RESPONSIBILITIES AS DIRECTOR OF REGULATORY SERVICES?
- 17 A: I supervise and direct the Regulatory Services of the Company, which has the
- 18 responsibility for rate and regulatory matters affecting Kentucky Power. This

1	includes the preparation of and coordination of the Company's exhibits and
2	testimony in rate cases and any other formal filings before state and federa
3	regulatory bodies. Another responsibility is assuring the proper application of th

5 O: TO WHOM DO YOU REPORT?

4

Company's rates in all classifications of business.

- A: I report to the President of Kentucky Power, Mr. Timothy C. Mosher, who is also
 located in Frankfort, Kentucky.
- 8 O: HAVE YOU PREVIOUSLY TESTIFIED BEFORE THIS COMMISSION?
- 9 A: Yes. I have testified before this Commission in numerous regulatory proceedings 10 involving the adjustment in electric base rates, the fuel adjustment clause, the 11 operation of the environmental cost recovery mechanism, approval of certificates of 12 public convenience and necessity and other regulatory matters. I also testified in 13 KPCo's last general adjustment in electric base rates in Case No. 2005-00341.

14 III. Purpose of Testimony

- 15 Q: WHAT IS THE PURPOSE OF YOUR TESTIMONY IN THIS 16 PROCEEDING?
- 17 A: The purpose of my testimony is to support the Company's monthly environmental
 18 surcharge filings for the six month billing periods ending December 31, 2007; June
 19 30, 2008; and December 31, 2008. Additionally, my testimony supports the
 20 Company's request to recover the total net under collection of environmental costs
 21 in the amount of \$5,156 during the expense months of May 2007 through October
 22 2008.
- 23 Q: HAS THE COMPANY RESPONDED TO THE COMMISSION STAFF'S ELEVEN DATA REQUESTS, INCLUDING SUB-PARTS, PURSUANT TO APPENDIX B OF THE FEBRUARY 12, 2009 ORDER IN THIS CASE?

1	A:	Yes, in addition to my prefiled testimony, the Company is also filing responses to
2		the data requests.
3	Q:	PLEASE EXPLAIN THE COMPANY'S DISCOVERY OF THE UNDER
4		COLLECTION OF TOTAL NET ENVIRONMENTAL COSTS OF \$5,156.
5	A:	During the Company's review of the monthly environmental filings for the three
6		six-month periods under review in this proceeding, the Company discovered that it
7		had failed to include \$30,207 of monthly Air Emission Fee for the Gavin Plant on
8		ES Form 3.14, page 5 of 11, line 9 on the five monthly filings beginning February
9		2008 through June 2008.
10 11 12	Q:	HAS THE COMPANY RE-CALCULATED THE ENVIRONMENTAL SURCHARGE FILINGS FOR THE FIVE MONTHS TO INCLUDE THE MONTHLY GAVIN AIR EMISSION FEE OF \$30,207?
13	A:	Yes, please see the Company's response to the Commission Staff's data requests
14		pursuant to the Order dated February 12, 2009. Item No. 1, pages 5 through 35 are
15		the revised environmental surcharge calculations for the five expense months

February through June 2008. For each of the five months, ES Form 3.14, Page 5 of

11, Line 9, was revised to show the \$30,207 monthly Gavin Air Emission Fee.

When ES Form 3.14, page 5 of 11 is revised, the result is carried forward to the

other affected revised forms, then ES Form 1.00 reflects the under-recovery, if any.

The monthly changes are as follows:

16

17

18

19

20

	Revised	As Filed		KPCo
	Amount on ES	Amount on ES		Response
	Form 1.00,	Form 1.00,		Item No 1
Month/Year	Line 7	Line 7	Difference	Reference Page
				Number
February 2008	\$471,129	\$468,528	\$2,601	Page 5 of 35
March 2008	\$192,792	\$167,375	\$2,552	Page 11 of 35
April 2008	\$899,873	\$899,873	\$0	Page 17 of 35
May 2008	\$1,393,635	\$1,393,632	\$3	Page 23 of 35
June 2008	\$1,365,807	\$1,365,807	\$0	Page 30 of 35
Total			\$5,156	

O: WHAT IS THE FINAL RESULT?

1

A: The final result is a total net under-recovery of \$5,156. Item No. 1, Pages 3 and 4, is a summary showing all three six-month periods and when the revisions are made to expense months February through June 2008, the total net under collection is \$5,156 (see Line 21, month of February 2008 in the amount of \$2,601; month of March 2008 in the amount of \$2,552 and the month of May 2008 in the amount of \$3).

VIII. Conclusion

8 Q: WHAT ACTION IS THE COMPANY REQUESTING THE COMMISSION TAKE IN THIS PROCEEDING?

- 10 A: Kentucky Power Company respectfully requests the Commission issue an Order
 11 permitting the Company to recover the net under collection of environmental costs
 12 in the amount of \$5,156.
- 13 Q: HOW DOES THE COMPANY PROPOSE THAT IT COLLECT THE TOTAL NET UNDER COLLECTION?
- A: Due to the de minimis amount of the total net under collection, the Company proposes a one time adjustment to the Company's first monthly environmental

- 1 surcharge filing following the Commission's Order in this proceeding. The
- Company would propose to insert a line between lines 5 and 6 on ES Form 1.00 in
- which the \$5,156 under collection amount would be added to line 5.
- 4 Q: DOES THAT CONCLUDE YOUR PRE-FILED DIRECT TESTIMONY?
- 5 A: Yes.

COMMONWEALTH OF KENTUCKY

BEFORE THE PUBLIC SERVICE COMMISSION OF KENTUCKY

COMMONWEALTH OF KENTUCKY

CASE NO. 2009-00038

COUNTY OF FRANKLIN

AFFIDAVIT

Errol K. Wagner, upon first being duly sworn, hereby makes oath that if the foregoing questions were propounded to him at a hearing before the Public Service Commission of Kentucky, he would give the answers recorded following each of said questions and that said answers are true.

Subscribed and sworn before me by Errol K. Wagner this 20th day of March, 2009.

My Commission Expires January 23, 2013



KPSC Case No. 2009-00038 Commission Staff First Set of Data Requests Order Dated February 12, 2009 Item No. 1 Page 1 of 35

Kentucky Power Company

REQUEST

Prepare a summary schedule showing the calculations E(m) and the surcharge factor for the expense months covered by the applicable billing period. Use ES Form 1.00 as a model for this summary. Include the expense months for the two expense months subsequent to the billing period in order to show the over- and under-recovery adjustments of the months included for the billing period under review. Include a calculation of any additional over- or under-recovery amount Kentucky Power believes needs to be recognized for each 6-month review. Include all supporting calculations and documentation for any such additional over- or under-recovery.

RESPONSE

A summary schedule showing the calculation of E(m) and the surcharge factor for the expense months covered by the applicable billing period is attached. (Please see Pages 3 and 4 of 35).

After reviewing the monthly environmental filings for the revenue months July 2007 through December 2008 (Expense months May 2007 through October 2008) the only omission the Company found was on page ES Form 3.14 page 5 of 11. In reviewing the monthly filings, the Company found that it failed to include on line 9 the monthly Air Emission Fee in the amount of \$30,207 for the five expense months of February 2008 through June 2008. When the filings are modified to include the monthly Air Emission Fee of \$30,207, only three of the five expense months (February 2008, March 2008 and May 2008) changed the amount on page ES Form 1.00 line 7. The monthly changes are shown on the table below:

KPSC Case No. 2009-00038 Commission Staff First Set of Data Requests Order Dated February 12, 2009 Item No. 1 Page 2 of 35

	Revised Amount	As Filed		
	on ES Form	Amount on ES		Attachment
Month/Year	1.00, Line 7	Form 1.00, Line	Difference	Reference Page
		7		•
February 2008	\$471,129	\$468,528	\$2,601	Page 5 of 35
March 2008	\$192,792	\$167,375	\$2,552	Page 11 of 35
April 2008	\$899,873	\$899,873	\$0	Page 17 of 35
May 2008	\$1,393,635	\$1,393,632	\$3	Page 23 of 35
June 2008	\$1,365,807	\$1,365,807	\$0	Page 30 of 35
Total			\$5,156	

The overall result is an under-recovery of the Company's environmental costs in the amount of \$5,156 during the review period (Please see page 4 of 35, Total Over/Under column, Line 21). Therefore, the Company is requesting authority to collect the under-recovery amount in its next monthly environmental filing following the date of the Commission's Order in this proceeding.

WITNESS: Errol K Wagner

KPSC Case No 2009-00038
Commission Staff 1st Set Date Requests
Order Dated February 12, 2009
Item No. 1
Page3 of 35

April 2008 \$3,346,558	\$2,095,535	\$1,251,133	64.7%	\$809,483	;	90	;	0%	0.6	\$90,390	\$899,873	873	\$699,073	100	2.6355%		April 2008	\$3,346,668	\$2,095,535	\$1,251,133		\$809,483	\$90,390				.6 \$34,143,683	2.635	52 \$0	
202	\$2,845,066 \$2		%2'69	\$167,375		\$0		0\$	0\$	\$22,865	\$190,240		\$190,240	\$39,776,726	0.4783%		March 2008	\$3,088,864	\$2,845,066	\$243,798	89.7%	\$169,927	200 BR	\$44,000		\$192,792	\$39,776,726	0.4847%	\$2,552	
			72 3%		ŧ	0\$		0\$	0\$	\$299,684	\$468,528		\$468,528	\$41,156,408	1.1384%		February	2008	\$3,271,125	\$237,130	72.3%	\$171,445		\$299,684	\$471,129	\$471,129	\$41,156,408	1,1447%	\$2,601	
February 2008 \$3,237,528	\$3.003.995	\$233,533	,	. 181					80						702250	2													ç	9
January 2008	\$3,329,854	\$2,531,784	,	%6'.29	\$541,890	0\$		0\$	67		20,93¢ (\$548,842	v)				2008												0\$
December 2007	\$1,708,995	\$1,407,969	\$301,026	71.9%	\$216,438	0\$		0\$	G	3	(\$68,992)	\$147,446	6147 A4B	•	9	0.3657%		December 2007												0\$
November Di 2007	74	\$2,598,522	(\$155,518)	64.4%	(\$100,153)	Ş	D#	ş	2	\$0	(\$47,605)	(\$147,758)			\$27,622,758	-0.5349%		November 2007												0%
October	42 200 124	\$2,181,975	\$527,149	%6 69	\$333,158		0\$		0\$	0\$	\$122,571			\$455,729	\$28,582,745	1.5944%		October												0\$
September		\$2,973,994	\$4,652,503		63.1%	\$76,785	0\$		0\$	\$0		(\$69,094)		\$6,892	\$33,		8% 0.0208%	September	2007											08
	August 2007	\$3,302,025	\$2,342,883	\$959,142	%0.09	\$575,485	Ş	3	\$0	0\$			\$488,083		\$486,003	100	1,5018%		August 2007											0\$
	July 2007	\$3,246,844	\$2,818,212	\$428,632	63.4%	\$271,752		\$0	c59.552		0\$	(\$48,646)	\$282,658		\$282,6	\$33,212,354	6 0.8511%		July 2007											0\$
	June	2007	\$1,913,578	\$778,042	63.6%	\$494,835		\$95,494	:	O.	\$0	\$78,185	\$668,514		\$668,514	\$31,821,952	2.1008%		June	2007										0\$
			\$2,915,790			67.8% \$949,835		\$95,494		0\$	80	(008 0074)	(\$166,609)		\$876,520	\$28,451,204	%BDBD c	8,0000.£	May	2007										
KENTUCKY POWER COMPANY KENTORIMENTAL SURCHARGE REPORT ENVIRONMENTAL SURCHARGE FACTOR CALCULATION OF E(m) and SURCHARGE FACTOR	As Originally Filed	$\frac{CALCULATION OF E(m)}{E(m)} = CRR - BRR$	CRR from ES FORM 3.00	Br from ES FORM 1.10	E(m) (LINE 1 - LINE 2)	Kentucky Retail Jurisdictional Allocation Factor, from ES FORM 3.30, Schadule of Revenues, LINE 1	KY Retail E(m) (LINE 3 * LINE 4)	Monthly increase in Jurisdictional Environmental Revenue Requirement per Casa No. 2006-00128, Revenue Requirement	ated January 31, 2001 	Adjustment - Associated Operating & management - Okto Pawer (SVE Equipment - Associated Operating & Line 14 - Okto Pawer Expenses and (2) EES FORM 3.14, Page 2. Line 14 - Okto Pawer Expenses and (2) EES FORM 3.14, Page 3.	Company's revised Company of the Com	Environmental Case No. 2007-00381, dated August 19, 2000 Case No. 2007-00381, dated August 18, 2000	Over/(Under) Recovery Adjustment II om ES FORM 3:30	Net KY Retail E(m) (LINE 5 + LINE 6)	SURCHARGE FACTOR	Net KY Retail E(m) (Ling 7)	KY Retail R(m) from ES FORM 3.30	Environmental Surchage Factor for Expensor (Line 8 / LINE 9)	As Revised	CALCULATION OF $E(m)$ E(m) = CRR - BRR	CRR from ES FC			Kentucky Retail Jurisdictional Allocation Factor, comes FORM 3.30, Schedule of Revenues, LINE 1					-	_
CAL			-		, n	4	P. P.		LINE 58 da	∝ on π	LINE 5B C	LINE 5B	ď	, ,		LINE 8	LINE 9	10	רואני		LINE 11	LINE 12	LINE 13		LINE 14		LINE 18	LINE	18 ENE	

KPSC Case No 2009-00038
Commission Staff 1st Set Date Requests
Order Dated February 12, 2009
(Iem No. 1
Page4 of 35

KENTUCKY POWER COMPANY ENVIRONMENTAL SURCHARGE REPORT CALCULATION OF E(m) and SURCHARGE FACTOR

ES FORM 1.00

KENTUCKY POWER COMPANY - ENVIRONMENTAL SURCHARGE REPORT CALCULATION OF E(m) and SURCHARGE FACTOR For the Expense Month of February 2008

	CALCULATION OF E(m) E(m) = CRR - BRR	REVISED AMOUNT	FILED. AMOUNT	DIFFERENCE
LINE 1	CRR from ES FORM 3.00	\$3,241,125	\$3,237,528	\$3,597
LINE 2	Brr from ES FORM 1.10	\$3,003,995	\$3,003,995	\$0
LINE 3	:E(m) (LINE 1 - LINE 2)	\$237,130	\$233,533	\$3,597
LINE 4	Kentucky Retail Jurisdictional Allocation Factor, from ES FORM 3.30, Schedule of Revenues, LINE 1	72.3%	72.3%	72.3%
LINE 5	KY Retail E(m) (LINE 3 * LINE 4)	\$171,445	\$168,844	\$2,601
LINE 6	Over/(Under) Recovery Adjustment from ES FORM 3.30	\$299,684	\$299,684	\$0
LINE 7	Net KY Retail E(m) (LINE 5 + LINE 6)	\$471,129	\$468,528	\$2,601
	SURCHARGE FACTOR			
LINE 8	Net KY Retail E(m) (Line 7)	\$471,129	\$468,528	\$2,601
LINE 9	KY Retail R(m) from ES FORM 3.30	\$41,156,408	\$41,156,408	
LINE 10	Environmental Surchage Factor for Expense Month (Line 8 / LINE 9)	1.1447%	1.1384%	

Effective Date for Billing:	April 2008
Submitted By:	
Title :	Director Regulatory Services
Date Submitted :	

KENTUCKY POWER COMPANY - ENVIRONMENTAL SURCHARGE REPORT CURRENT PERIOD REVENUE REQUIREMENT For the Expense Month of February 2008

ZEMENT
IF REOUI
D REVEN
AT PERIO
F CURRE
ONOL
CALCULA

	COMPONENTS	REVISED AMOUNT	REVISED AMOUNT	FILED AMOUNT	FILED	DIFERENCE	DIFFERENCE
'irst Campone ((RB KP(C)) ES FORM 3	First Component: Associated with Big Sandy Plant ((RB KP(C)) (ROR KP(C)/12)) + OE KP(C) ES FORM 3.10, Line 20		\$3,200,473		\$3,196,876		763,587
Second Compo [((RB IM(C) ES FORM?	Second Component: Associated with Rockport Plant [(RB IM(C)) (ROR IM(C)/12)) + OE IM(C) ES FORM 3.20, Line 12		\$40,652		\$40,652		O
fhird Compon AS 1) 302 - E	Third Component: Net Proceeds from Emission Allowances Sales As AS 1) SO2 - EPA Auclion Proceeds received during Expense Month	0\$		0\$		0\$	
2) SOZ - P in con Agree	SO2 - Net Gain or (Loss) from Allowance Sales, in compliance with the AEP Interim Allowance Agreement, received during Expense Month	\$0		0\$		0\$	
Tot	Total Net Proceeds from SO2 Allowances	0\$		\$0		\$0	
1) NOx-E	NOx - ERC Sales Proceeds, received during Expense Month	\$0		\$0		0\$	
2) NOX-E	NOx - EPA Auction Proceeds, received during Expense Month	0\$		\$0		80	
3) NOX - N	NOx - Net Gein or Loss from NOx Allowances Sales, received during Expense Month	\$		\$0		0\$	
Tota	Total Net Proceeds from NOx Allowances	9\$		0\$		\$0	
Total Net Gain o	Total Net Gain or (Loss) from Emission Allowance Sales		0\$		0\$		0\$
Total Current Pe	Total Current Period Revenue Requirement, CRR Record on ES FORM 1.00.		\$3,241,125		\$3,237,528		\$3,597

KENTUCKY POWER COMPANY - ENVIRONMENTAL SURCHARGE REPORT CURRENT PERIOD REVENUE REQUIREMENT COSTS ASSOCIATED WITH BIG SANDY

For the Expense Month of February 2008

LINE No.	COST COMPONENT	REVISED AMOUNTS	REVISED AMOUNTS	FILED	FILED	DIFFERENCE	DIFFERENCE
L							
	Refurn on Rate Base:					ļ	***************************************
-	Utility Plant at Original Cost	\$191,360,181		\$191,360,181		0\$	
2	Less Accumulated Depreciation	(\$39,820,920)		(\$39,820,920)		D\$	
6	Less Accum. Def. Income Taxes	(\$36,130,760)		(\$36,130,760)		0\$	
4	Net Utility Plant		\$115,408,501		\$115,408,501		0\$
2	SO2 Emission Allowance Inventory from ES FORM 3.11		\$10,028,371		\$10,028,371		<u></u>
9	ECR & NOx Emission Allowance inventory from ES FORM 3.12		0\$		0\$		0\$
7	Cash Working Capital Allowance from ES FORM 3.13, Line 12		\$77,743		\$77,743		0\$
8	Total Rate Base		\$125,514,615		\$125,514,615		\$0
O)	Weighted Average Cost of Capital - ES FORM 3.15	10.15%		10.15%		10.15%	
10			0.85%		0.85%		0.85%
=			\$1,066,874		\$1,066,874		0\$
	Operaling Expenses:						
12	Monthly Depreciation Exper		\$577,101		\$577,101		Q.
13	Monthly Calalyst Amortization Expense		\$46,030		\$46,030		0\$
14	Monthly Property Taxes		\$14,454		\$14,454		0\$
5			\$30,246		\$30,246		G\$
	Monthly Environmental AEP Pool Capacity Costs						
18	from ES FORM 3.14, Page 1 of 11, Column 5, Line 10		\$1,291,323		\$1,287,726		\$3,597
17	Monthly 2003 Plan Non-Fuel O&M Expenses from ES FORM 3.13		\$21,365		\$21,365		O\$
18	-		\$153,080		\$153,080		0\$
19	Monthly ERC & NOx Emission Allowance Consumption		S		8		9
22	÷		\$2,133,599		\$2,130,002		\$3,597
21	Total Revenue Requirement - Big Sandy						****
	Record on ES FORM 3.00, Line 1		\$3,200,473		\$3,196,876		\$3,597

ES FORM 3.14 Page 1 of 11

REVISED - March 20, 2009

KENTUCKY POWER COMPANY - ENVIRONMENTAL SURCHARGE REPORT CURRENT PERIOD REVENUE REQUIREMENT AEP POOL MONTHLY ENVIRONMENTAL CAPACITY COSTS

For the Expense Manth of February 2008

E. S. €.

Total (11)										\$3,597
DIFFERENCE Indiana Michigan Power Companys Environmental Cost to KPCo								O.S	\$0	0\$
DIFFERENCS Indiana Ohlo Michigan Power Company's Company's Environmental Environmental Cost to KPCo Cost to KPCo (9)	0\$	20	\$3,597	80	0\$	80	os			183,587
Total (8)										\$1,287,728
FILED AMOUNTS Indiana Michigan Power Company's I Environmental Cost to KPCo								\$3,597	\$10,781	\$14,388
FILED AMOUNN Indiana Ohio Michigan Power Power Company's Company's Erwitonmental Environmental Cost to KPCo Cost to KPCo (8)	\$57,552	\$50,358	\$492,789	\$3,597	\$586,311	\$71,840	\$10,791			\$1,273,338
Total (5)										\$1,291,323
REVISED AMOUNTS Indiana Michigan Power Is Company's Is Company's Coct to KPCo								\$3,597	\$10,791	\$14,388
REVISED AMOUJ Indiana Ohio Michigan Power Power Company's Company's Emilionmental Environmental Cost to KPCo Cost to KPCo (3)	\$57,552	\$50,358	\$496,388	53,597	\$586,311	\$71,840	\$10,791			\$1,276,935
Cost Component (2)	Amos Unit No. 3 Environmental Cost to Kenlucky Power (ES FORM 3.14, Page 3 of 11, Lins 24)	Cardinal Unit No. 1 Environmental Cost to Kentucky Power (ES FORM 3.14, Page 4 of 11, Line 22)	Gavin Plant Environmental Cost to Kentucky Power (ES FORM 3.14, Page 5 of 11, Line 28)	Kammer Plant Environmentel Cost to Kentucky Power (ES FORM 3.14, Page 6 of 11, Line 20)	Mitchell Plant Environmental Cast to Kentucky Power (ES FORM 3.14, Page 7 of 11, Line 23)	Muskingum Plant Environmental Cost to Kentucky Power (ES FORM 3.14, Page 8 of 11, Line 20)	Sporn Plant Environmental Cost to Kentucky Power (ES FORM 3.14, Page 9 of 11, Line 20)	Rockport Plant Environmental to Kentucky Power (ES FORM 3.14, Page 10 of 11, Column 5, Line 21)	Tanneis Creek Plant Erwironmental Cost to Kentucky Power (ES FORM 3.14, Page 11 of 11, Line 20)	Total AEP Pool Monthly Environmental Capacity Costs to Kentucky Power
₽ 6 €			_	_		_		~	m	0

Note; Cost in Column 5, Line 10 is to be recorded on ES FORM 3.10, Line 16,

8

6

₽

KENTUCKY POWER COMPANY - ENVIRONMENTAL SURCHARGE REPORT CURRENT PERIOD RENDILEE REQUIREMENT
AEP POOL MONTHLY ENVIRONMENTAL CAPACITY COSTS
WORKING CAPITAL ONLY

For the Expense Mouth of February 2008

Cost Component [2]	REV Ohio Power Company's (OPCo) Environmental Cost to RPCo	REVISED AMOUNTS Inclina Michigan Power Formpany's (RSM) Ald Environmental COST (or KPCO	Fotal (5)	FIL. Chio Power Company's (OPCo) Environmental Cost to KPCo (6)	FILED AMOUNTS Indiana Michigan Power Companys (I&M) al Erutonman(al Cost for Poco	Total (8)	Ohto Power Company's (OPCo) Environmental Cost to KPCo (9)	DIFFERENCE Indiana Michigan Powor Powor Companys (RM) Ervicomonia Cost to KPCo (10)	Total (11)
Amos Uni No. 3 Eminoraneniei Cost to Kerlucky Power (ES FORM 3.14, Page 3 of 11, Une 16)	\$307,424			5307,424			20		
Cardnał Unit No. 1 Environmentel Cost to Kentucky Power (ES FORM 3,14, Page 4 of 11, Line 12)	\$30,673			\$30,673			S.		
Gavin Plant Emoironmental Cost to Kentucky Power (ES FORM 3,14, Page 5 of 11, Line 16)	\$9,389,293			\$9,359,086			\$30.207		
Kananer Plant Environmental Cost to Kanlucky Power (ES FORM 3,14, Page 6 of 11, Line 10)	518,189			\$18,188			25		
Mitchell Plant Environmental Cost to Kentucky Power (ES FORM 3.14, Page 7 of 11, Line 13)	\$788,901			\$788,901			0\$		
Muskhgum Plart Environmental Cost to Kentucky Power (ES FORM 3,14, Page 8 of 11, Line 10)	\$371.578			\$371.578			B		
Sporn Plant Environmental Cost to Kentucky Power (ES FORM 3.14, Page 9 of 11, Line 10)	514,415			\$14,415			B		
Rockport Plant Environmental to Kentucky Power (ES FORM 3.14, Page 10 of 11, Column 3, Line 10)		\$15,825			\$15,625			DS	
Rocipot Plant Environmental to Kentucky Power (ES FORM 3.14, Page 10 of 11, Columns 4 & 5, Line 10)		\$0			os			\$	
Tanners Cretk Plank Endionnenial Cost to Kentucky Power (ES FORM 3.14, Page 11 of 11. Line 10)		\$15,625			\$15,025			O\$	
Sublotei	\$10,920,473	\$31,250		\$10,890,288	\$31,250		\$30,207	S\$	
Steam Capacity By Company - OPCo (Column 3) / I&M (Column 4) (kw)	8,452,000	5,154,000		8,452,099	5,154,000		8,452,000	5,154,000	
Environmental Base (SAw)	\$1.29	\$0.01		\$1.29	\$0.01		\$0.00	\$0.00	
Company Surplus Weighting	90.00%	10.00%		80.00%	10.00%		90.00%	10.00%	
Podion of Waighted Average Capacity Rate Altributed to Environmental Fixed O&M Costs	\$1,16	\$0.00		\$1.16	\$0.00		00'0\$	\$0.00	
Kentucky Power Capacity Delicil (kw)	359,700	359,700		359,700	359,700		359,700	359,700	
Fixed O&M Endronmental Cost to Kentucky Power	\$417,252	2 \$	\$417,252	\$417,252	20	\$417,252	20	8	95

Note: Cost in Column 5, Line 17 is to be recorded on ES FORM 3.13, Line 2,

t t t

t t t

ES FORM 3.14 Page 5 of 11

REVISED - March 20, 2009

KENTUCKY POWER COMPANY - ENVIRONMENTAL SURCHARGE REPORT CURRENT PERIOD REVENUE REQUIREMENT OHIO POWER COMPANY (OPCo) - GAVIN PLANT (UNITS 1 & 2)

For the Expense Month of February 2008

COST	REVISED AMOUNTS	FILED	DIFFERENCE
Utillty Plant at Original Cost	\$257,303,001	\$257,303,001	\$0
Member Primary Capacity Investment Rate (16,44% / 12)	1.37%	1.37%	1.37%
Lotal Rate Base	150,525,53	150,625,6\$	0#
Operations . Studge Disposal (5010000)	\$824,215	\$624,215	\$0
Lime (5020001)	\$3,459,987	\$3,459,987	\$0
Urea (5020002)	0\$	Q.	\$0
Trona (5020003)	\$247,057	\$247,067	90
Lime Stone (5020004)	\$	0\$	0\$
Air Emission Fee	\$30,207	\$0	\$30,207
Lease (5070005)	\$4,355,500	\$4,355,500	08
lotal Operations (Lines 4 thru 10)	\$8,916,966	\$8,886,759	\$30,207
O O Minimus (2000)	0207 050	010	Ç
	000,100	907,030	9 6
Scrubber Maintenance (5120000)	ga/gcas	3020, (95	2
Total Maintenance (12) + (13)	\$944,654	\$844,654	0\$
1/2 of Maintenance (13) * 50%	\$472,327	\$472.327	8
Fixed O&M (11) + (15)	\$9,389,293	\$9,359,086	\$30,207
Total Revenue Requirement,			
Cost Associated with Gavin Plant (3) + (16)	\$12,914,344	\$12,884,137	\$30,207
Ohio Power Company's Percentage Ownership	100.00%	100.00%	100.00%
OPCo's Share of Cost Associated with Gavin Plant (17) X (18)	\$12,914,344	\$12,884,137	\$30,207
Ohio Power Company Steam Capacity (kw)	8,452,000	8,452,000	8,452,000
Gavin Plant (\$/kw)	\$1.53	\$1.52	\$0.01
Ohio Power Surplus Weighing	%00.06	%00.08	%00'08
Portion of Weighted Average Capacity Rate			
Attributed to Gavin Plant (\$/kw) (21) X (22)	\$1.38	\$1.37	\$0.01
Gavin Plant Costs to Kentucky Power:			
Gavin Plant Portion (\$/kw) (23)	\$1.38	\$1.37	\$0.01
Kentucky Power Capacity Deficit (kw)	359,700	329,700	329.700
Gavin Plant Environmental Cost to Rentucky Power (24) 7 (25)	000	007	F-2 E-6-7
(Ed FORM 5.14, Tage - of 10, Little 5)	4480,560	\$492,709	/sc'ce

2 5 5 5 5 5

7 19 19 19 23 23 23 24 25 26

ES FORM 1.00

KENTUCKY POWER COMPANY - ENVIRONMENTAL SURCHARGE REPORT CALCULATION OF E(m) and SURCHARGE FACTOR For the Expense Month of March 2008

	CALCULATION OF E(m)	REVISED	FILED	
	E(m) = CRR - BRR	AMOUNT	AMOUNT	DIFFERENCE
LINE 1	CRR from ES FORM 3.00	\$3,088,864	\$3,085,202	\$3,662
LINE 2	Brr from ES FORM 1.10	\$2,845,066	\$2,845,066	\$0
LINE 3	E(m) (LINE 1 - LINE 2)	\$243,798	\$240,136	\$3,662
LINE 4	Kentucky Retail Jurisdictional Allocation Factor, from ES FORM 3.30, Schedule of Revenues, LINE 1	69.7%	69.7%	69.7%
LINE 5	KY Retail E(m) (LINE 3 * LINE 4)	\$169,927	\$167,375	\$2,552
LINE 6	Over/(Under) Recovery Adjustment from ES FORM 3.30	\$22,865	\$0	\$0
LINE 7	Net KY Retail E(m) (LINE 5 + LINE 6)	\$192,792	\$167,375	\$2,552
	SURCHARGE FACTOR			
LINE 8	Net KY Retail E(m) (Line 7)	\$192,792	\$167,375	\$2,552
LINE 9	KY Retail R(m) from ES FORM 3.30	\$39,776,726	\$39,776,726	
LINE 10	Environmental Surchage Factor for Expense Month (Line 8 / LINE 9)	0.4847%	0.4208%	

Effective Date for Billing:	May 2008
Submitted By :	
Title:	Director Regulatory Services
Date Submitted :	

REVISED - March 20, 2009

KENTUCKY POWER COMPANY - ENVIRONMENTAL SURCHARGE REPORT CURRENT PERIOD REVENUE REQUIREMENT For the Expense Month of March 2008

CALCULATION OF CURRENT PERIOD REVENUE REQUIREMENT

DIFFERENCE	\$3,662	0\$								0\$	\$3,662
DIFFERENCE			0\$	0\$	0\$	90	0\$	0\$	0\$		
FILED	\$3,309,555	\$41,626								\$265,979	\$3,085,202
FILED			9	\$265,979	\$265,979	0\$	0\$	0\$	0\$		
REVISED AMOUNT	\$3,313,217	\$41,626								\$265,979	\$3,088,864
REVISED AMOUNT			0\$	\$265,979	\$266,979	0\$	0\$	0\$	0\$		
COMPONENTS	First Component: Associated with Big Sandy Plant ((RB KP(C)) (ROR KP(C)/12)) + OF KP(C) ES FORM 3.10, Line 20	Second Component: Associated with Rockport Plant [(RB IM(C)) (ROR IM(C)/12)) + OE IM(C) ES FORM 3.20, Line 12	Third Component: Not Proceeds from Emission Allowances Sales AS 1) SO2 - EPA Auclion Proceeds received during Expense Month	 SO2 - Net Gain or (Loss) from Allowence Sales, in compilance with the AEP Interim Allowance Agreement, received during Expense Month 	Total Net Proceeds from 502 Allowances	1) NOx - ERC Sales Proceeds, received during Expense Month	2) NOx - EPA Auction Proceeds, received during Expense Month	 NOx - Nel Gain or Loss from NOx Allowances Sales, received during Expense Month 	Total Net Proceeds from NOx Allowances	Tolal Net Gain or (Loss) from Ernission Allowance Sales	Tolal Current Period Revenue Requirement, CRR Record on ES FORM 1.00.
N.O.		8								6	4

KENTUCKY POWER COMPANY - ENVIRONMENTAL SURCHARGE REPORT CURRENT PERIOD REVENUE REQUIREMENT COSTS ASSOCIATED WITH BIG SANDY

2008
March
Month of
Ехрепзе
For the Expen

NS S	COST COMPONENT	REVISED AMOUNT	REVISED AMOUNT	FILED AMOUNT	FILED AMOUNT	DIFFERENCE	DIFFERENCE
	Return on Rafe Base :		360,600,600,600,600,600,600	7000	808000000000000000000000000000000000000	ç	
~	Utilliy Plant at Original Cost	176,212,1914		\$191,212,371		2 6	
7	Less Accumulated Depreciation	(\$40,444,051)		(\$40,444,051)		<u> </u>	
က	Less Accum. Def. Income Taxes	(\$36,390,221)		(\$38,390,221)		0\$	
4	Net Utility Plant		\$114,378,099		\$114,378,099		0\$
ιΩ	SO2 Emission Allowance inventory from ES FORM 3.11		\$9,819,214		\$9,819,214		9
9	ECR & NOx Emission Allowance Inventory from ES FORM 3.12		9\$		0\$		04
_	Cash Working Capital Allowance from ES FORM 3.13, Line 12		\$88,878		\$48,878		0\$
80	Total Rate Base		\$124,286,191		\$124,286,191		20
6	Weighted Average Cost of Capital - ES FORM 3.15	10.15%		10,15%		0.00%	
2	_		0.85%		0.85%		0.00%
7	-		\$1,056,433		\$1,056,433		0\$
	Operating Expenses :						
12	Monthly Depreciation Expense		\$577,101		\$577,101		0\$
13	Monthly Catalyst Amortization Expense		\$46,030		\$46,030		0\$
7	Monthly Property Taxes		\$14,454		\$14,454		0,
55	_		\$30,246		\$30,246		0
	Monthly Environmental AEP Pool Capacity Costs						
16	from ES FORM 3.14, Page 1 of 11, Column 5, Line 10		\$1,325,644		\$1,321,982		\$3,662
17	Monthly 2003 Plan Non-Fuel O&M Expenses from ES FORM 3.13		\$54,152		\$54,152		9
9			\$209,157		\$209,157		0
9			S		200		25
8	Total Operating Expenses [Line 12 thru Line 18]		\$2,256,784		\$2,253,122		\$3.662
7	Total Revenue Requirement - Big Sandy		XXC.		970		
	Record on ES FORM 3.00, Line 1		\$3,313,217		\$3,309,555		\$3,662
	_	XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX			27		-

KENTUCKY POWER COMPANY · ENVIRONMENTAL SURCHARGE REPORT CURRENT PERIOD REVENUE REQUIREMENT AEP POOL MONTHLY ENVIRONMENTAL CAPACITY COSTS

REVISED - March 20, 2009

For the Expense Month of March 2008

Total (11)										\$3,662
DIFFERENCE indiana Michigan Powar Company's Environmental Cost to KPCo (10)								0\$	0\$	0\$
DIFFERENC indiana Ohio Michigan Power Power Company's Company's Environmental Environmenta Cost to KPCo Cost 10 KPCo (9)	. 0\$	0\$	\$3,682	05	0\$	0\$	0\$			\$3,662
Total (8)										\$1,321,982
FILED AMOUNTS Indiana Michigan Power Company's Environmental Cost to KPCo (7)								0\$	\$7,324	\$7,324
FILED AMOUN Indiana Ohlo Michigan Power Power Company's Company's Environmental Environmental Cost to KPCo Cost to KPCo (8)	\$62,254	\$58,582	\$501,694	\$3,662	\$604,230	\$73.240	\$10,986			\$1,314,658
Total										\$1,325,844
REVISED AMOUNTS Indiana Michigan Prover S Companys Companys Companys Cost to KPCo (4)								\$0	\$7,324	\$7,324
REV Ohio Power Company's Erwinomanial E Cost to KPCo (3)	\$62,254	\$58,592	\$505,358	\$3,862	\$604,230	\$73,240	\$10,988			\$1,318,320
e Cost Component	Amos Unit No. 3 Environmental Cost to Kentucky Power (ES FORM 3.14, Page 3 of 11, Line 24)	Cardinal Unit No. 1 Environmental Cost to Kentucky Power (ES FORM 3.14, Page 4 of 11, Line 22)	Gavin Plant Erwironmentel Cost to Kentucky Power (ES FORM 3.14, Page 5 of 11, Line 28)	Kammer Plant Environmental Cost to Kentucky Power (ES FORM 3.14, Page 6 of 11, Line 20)	Mitchell Plant Environmental Cost to Kentucky Power (ES FORM 3.14, Page 7 of 11, Line 23)	Muskingum Plant Environmental Cost to Kentucky Power (ES FORM 3.14, Page 8 of 11, Line 20)	Sporn Plant Erwironmental Cost to Kentucky Power (ES FORM 3.14, Page 8 of 11, Line 20)	Rockport Plant Environmental to Kentucky Power (ES FORM 3.14, Page 10 of 11, Column 5, Line 21)	Tanners Creek Plant Environmental Cost to Kentucky Power (ES FORM 3.14, Page 11 of 11, Line 20)	Tolal AEP Pool Monthly Environmental Capacity Costs 10 Kentucky Power
Ling No.	-	7	ຕ	4	гO	6	7	Ф	æ	5

Note: Cost in Column 5, Line 10 is to be recorded on ES FORM 3.10, Line 16.

EB FORM 3.14 Page 2 of 11

REVISED - March 20, 2009

KENTUCKY POWER COMPANY - ENVIRONMENTAL SURCHARGE REPORT CURRENT PERIOD DENEVUEL REQUIREMENT AEP POOL MONIHLY ENVIRONMENTAL CAPACITY COSTS WORKING CAPITAL ONLY

For the Expense Morth of March 2008

를용E

	REV	REVISED AMOUNTS		E	FILED AMOUNTS Indiana			DIFFERENCE Indiana		
Cost Component (2)	Ohlo Power Companys (Opco) Environmental Cost to KPCo (3)	Michigan Powar Company's (RAM) Environmental Cost to KPCo	Total (5)	Ohio Power Company's (OPCo) Environmental Cost to KPCo	Michigan Power Compeny's (I&M) Environmental Cost to KPCo	Total (8)	Ohlo Power Companys (OPCo) Environmental Cost to KPCo	Mitchigan Power Companys (RSM) Environmental Cost to KPCo (10)	Total (11)	
Amos Unit No., 3 Environmental Cost to Kenlucky Power (ES FORM 3,14, Page 3 of 11, Une 16)	\$326,905	•		\$326,805			05			
Cerdinal Unit No. 1 Environmental Cost to Kentucky Power (ES FORM 3.14, Page 4 of 11, Une 12)	\$52,055			\$52,055			0\$			
Gevin Plart Environmental Cost to Kenlucky Power (ES FORM 3.14, Page 5 of 11, Line 19)	\$9.075.134			\$9,044,927			\$30,207			
Kamner Plart Environmental Cost to Kentucky Power (ES FORM 3.14, Page 6 of 11, Line 10)	518,189			\$18,189			0\$			
Mitchell Plant Environmental Cast to Kenlucky Power (ES FORM 3.14, Page 7 of 11, Lina 13)	\$574,680			\$574,880			03			
Muskingun Plant Environmental Cast to Kentucky Power (ES FORM 3.14, Page 8 of 11, Line 10)	\$377.688			\$377,888			0\$			
Sporn Plant Environmental Cost to Kentucky Power (ES FORM 3.14, Page 9 of 11, Line 10)	\$14,415			\$14.415			0\$			
Rockport Plant Environmental to Kentucky Power (ES FORM 3.14, Page 10 of 11, Column 3, Une 10)		\$15,625			\$15.825			0\$		
Rockpat Plant Endronnerdel to Kenlucky Power (ES FORM 3.14, Page 10 of 11, Columns 4 & 5, Line 10)		20			0\$			OS		
Tamers Creek Plant Environmental Cost to Kentucky Power (ES FORM 3.14, Page 11 of 11, Line 10)		\$15,625			\$15,625			S		
	\$10,439,266	\$31,250		\$10,409,059	\$31,250		\$30,207	3.		
Steam Capacity By Company - OPCo (Column 3) / I&M (Column 4) (kw)	8,418,000	5,108,000		8,418,000	5,108,000		8,418,000	5,108,000		
Environmental Base (\$/kw)	\$1.24	50.01		\$1.24	\$0.01		20.00	\$0.00		
Company Suplus Weighting	92.00%	8.00%		\$200%	8.00%		92,00%	8.00%		
Poilon of Weighted Average Capacity Rate Alubuted to Enfrormental Fixed O&M Costs	\$1,14	\$0.00		\$1.14	\$0.00		\$0.00	00'0\$		
Kenlucky Power Capacity Deffell (kw)	366,200	366,200		366,200	168,200		386,200	368,200		
Fixed O&M Environmental Cost to Kentucky Power	\$417.468	83	\$417,468	\$417.468	S	\$417,468	D\$	8	S.	

ES FORM 3.14 Page 5 of 11

REVISED - March 20, 2009

KENTUCKY POWER COMPANY - ENVIRONMENTAL SURCHARGE REPORT CURRENT PERIOD REVENUE REQUIREMENT OHIO POWER COMPANY (OPCo) - GAVIN PLANT (UNITS 1 & 2)

For the Expense Month of March 2008

LINE NO.

	REVISED	HED	
COST	AMOUNTS	AMOUNTS	DIFFERENCE
Utility Plant at Orioinal Cost	\$257,303,001	\$257,303,001	0\$
Member Primary Capacity Investment Rate (16.44% / 12)	1,37%	1.37%	1,37%
Total Rate Base	\$3,525,051	\$3,525,051	Q\$
Operations :			1
Sludge Disposal (5010000)	\$702,463	\$702,463	0\$
Lime (5020001)	\$3,446,065	\$3,446,065	CF :
Urea (5020002)	\$	Q\$	Q \$
Trona (5020003)	\$263,747	\$263,747	Q#
Lime Stone (5020004)	Q\$	O\$	Q#
Air Emission Fee	\$30,207	0\$	\$30,207
Lease (5070005)	\$4,355,500	\$4,355,500	
Total Operations (Lines 4 thru 10)	\$8,787,982	\$8,757,775	\$30,207
Maintenance:			•
SCR Maintenance (5120000)	\$125,705	\$125,705	D\$
Scrubber Maintenance (5120000)	\$448.598	\$448.598	0
Total Maintenance (12) + (13)	\$574,303	\$574,303	D\$
1/2 of Maintenance (13) * 50%	\$287.152	\$287.152	
Fixed O&M (11) + (15)	\$9.075.134	\$9.044.927	\$30,207
Total Revenue Requirement,			9
Cost Associated with Gavin Plant (3) + (16)	\$12,600,185	\$12,569,978	\$30,207
Ohio Power Company's Percentage Ownership	100.00%	100.00%	100.00%
OPCo's Share of Cost Associated with Gavin Plant (17) X (18)	\$12,600,185	\$12,569,978	\$30,207
Ohio Power Company Steam Capacity (kw)	8,418,000	8,418,000	8,418,000
Gavin Plant (\$/kw)	\$1.50	\$1.49	\$0.01
Ohio Power Surplus Weighing	92.00%	92.00%	92.00%
Portion of Weighted Average Capacity Rate			,
Attributed to Gavin Plant (\$/kw) (21) X (22)	\$1.38	\$1.37	\$0.01
Gavin Plant Costs to Kentucky Power:		1	ç
Gavin Plant Portion (\$/kw) (23)	85.13	7.7	10.04
Kentucky Power Capacity Deficit (kw)	366.200	366.200	366,200
Gavin Plant Environmental Cost to Kentucky Power (24) * (25)			600
(ES FORM 3.14, Page 1 of 10, Line 3)	\$505,356	\$501,694	299,5\$

25 25 5

25

36

ES FORM 1.00

KENTUCKY POWER COMPANY - ENVIRONMENTAL SURCHARGE REPORT CALCULATION OF E(m) and SURCHARGE FACTOR For the Expense Month of April 2008

	<u>CALCULATION OF E(m)</u> E(m) = CRR - BRR	REVISED AMOUNT	FILED AMOUNT	DIFFERENCE
LINE 1	CRR from ES FORM 3.00	\$3,346,668	\$3,346,668	\$0
1			·	
LINE 2	Brr from ES FORM 1.10	\$2,095,535	\$2,095,535	\$0
LINE 3	E(m) (LINE 1 - LINE 2)	\$1,251,133	\$1,251,133	\$0
LINE 4	Kentucky Retail Jurisdictional Allocation Factor, from ES FORM 3.30, Schedule of Revenues, LINE 1	64.7%	64.7%	64.7%
LINE 5	KY Retail E(m) (LINE 3 * LINE 4)	\$809,483	\$809,483	\$0
LINE 6	Over/(Under) Recovery Adjustment from ES FORM 3.30	\$90,390	\$90,390	\$0
LINE 7	Net KY Retail E(m) (LINE 5 + LINE 6)	\$899,873	\$899,873	\$0
	SURCHARGE FACTOR			
LINE 8	Net KY Retail E(m) (Line 7)	\$899,873	\$899,873	\$0
LINE 9	KY Retail R(m) from ES FORM 3.30	\$34,143,683	\$34,143,683	
LINE 10	Environmental Surchage Factor for Expense Month (Line 8 / LINE 9)	2.6355%	2.6355%	

Effective Date for Billing:	June 2008
Submitted By :	
Title:	Director Regulatory Services
Date Submitted :	May 19, 2008

ES FORM 3.00

REVISED - March 20, 2009

KENTUCKY POWER COMPANY - ENVIRONMENTAL SURCHARGE REPORT CURRENT PERIOD REVENUE REQUIREMENT For the Expense Month of April 2008

CALCULATION OF CURRENT PERIOD REVENUE REQUIREMENT

File Part			0\$									0\$	0\$	٦
FILED TREVISED REVISED TREVISED TREVISED FILED FILED TREVISED TREVISED	DIFFERENCE	0\$	·											
FILED TREVISED T	DIFFERENCE				\$0	0\$	0\$	0\$	0\$	0\$	O\$			
First Component: Associated with Big Sandy Plant (RB KPC)) (PONFONENT) AMOUNT AMOUNT	FILED	\$3,305,036	\$41,705									\$73	\$3,346,668	
First Component: Associated with Big Sandy Plant ((RB KP(C)) (ROR KP(C)/12)) + OE KP(C) ES FORM 3.10, Line 20 Second Component: Associated with Rokkort Plant (((RB MC)) (ROR MP(C)/12)) + OE MM(C) ES FORM 3.20, Line 12 Third Component: Net Proceeds from Emission Allowances Sales AS 1) SO2 - EPA Auction Proceeds received during ESPORM 3.20, Line 12 Third Component: Net Proceeds received during Expense Month 2) SO2 - Net Gain or (Loss) from Allowances Sales, in compliance with the AEP Interim Allowance Agreement, received during Expense Month Total Net Proceeds from SO2 Allowances Sales, received during Expense Month 3) NOX - EPA Auction Proceeds, received during Expense Month 3) NOX - EPA Auction Proceeds, received during Expense Month 3) NOX - EPA Auction Proceeds from NOX Allowances Sales, received during Expense Month Total Net Gain or Loss from Allowance Sales Total Net Gain or (Loss) from Emission Allowance Sales Total Net Gain or (Loss) from Emission Allowance Sales Total Net Gain or (Loss) from Emission Allowance Sales Total Current Period Revenue Requirement, CRR Record on ES FORM 1.00.	FILED				\$0	\$73	\$73	0\$	0\$	0\$	0\$			
First Component: Associated with Big Sandy Plant ((RB KP(C)) (ROR KP(C)/12)) + OE KP(C) ES FORM 3.10, Line 20 Second Component: Associated with Rokport Plant (((RB IM(C)) (ROR IM(C)/12)) + OE IM(C) ES FORM 3.20, Line 12 Third Component: Nat Proceeds from Emission Allowances Sales AS 1) SO2 - EPA Auction Proceeds received during Expense Month 2) SO2 - Net Gain or (Loss) from Allowance Sales, in compliance with the AEP Interim Allowances Agreement, received during Expense Month Total Net Proceeds from SO2 Allowances 1) NOx - ERC Sales Proceeds, received during Expense Month 2) NOx - ERA Auction Proceeds, received during Expense Month 2) NOx - ERA Auction Proceeds, received during Expense Month Total Net Gain or Loss from NOx Allowances Sales, received during Expense Month Total Net Gain or (Loss) from Emission Allowance Sales Total Net Gain or (Loss) from Emission Allowance Sales Total Net Gain or (Loss) from Emission Allowance Sales Total Net Gain or (Loss) from Emission Allowance Sales Total Net Gain or (Loss) from Emission Allowance Sales	REVISED	\$3,305,036	\$41,705									\$73	\$3,346,668	
First Component: Associated with Big Sand (KRB KP(C)) (ROR KP(C)/12)) + OE KP(C ES FORM 3.10, Line 20 Second Component: Associated with Rook ((RD IM(C)) (ROR IM(C)/12)) + OE IM(C) ES FORM 3.20, Line 12 Third Component: Nel Proceeds from Emis AS 1) SO2 - Det Aucilon Proceeds receiver Expense Month 2) SO2 - Net Gain or (Loss) from Allowa in compliance with the AEP Inlerin Agreement, received during Expense Total Net Proceeds, received 1) NOX - ERC Sales Proceeds, received 2) NOX - ERC Sales Proceeds, received 3) NOX - Net Gain or Loss from NOX All during Expense Month Total Net Gain or Loss from NOX All action NOX All Cotal Net Gain or (Loss) from Emission Allow Total Net Gain or (Loss) from Emission Allow Total Our Es FORM 1.00.	REVISED AMOUNT				0\$	\$73	\$13	0\$	0\$	0\$	0\$			
	COMPONENTS	First Component: Associated with Big Sandy Plant ((RB KP(C)) (ROR KP(C)/12)) + OE KP(C) ES FORM 3.10, Line 20	Second Component: Associated with Rookport Plant ((RB IM(C)) (ROR IM(C)/12)) + OE IM(C) ES FORM 3.20, Line 12	Third Component: Net Proceeds from Emission Allowances Sales	1) SO2 - EPA Auction Proceeds received during Expense Month	 SO2 - Net Gain or (Loss) from Allowance Sales, in compliance with the AEP Interim Allowance Agreement, received during Expense Month 	Total Net Proceeds from SO2 Allowances	1) NOx - ERC Sales Proceeds, received during Expense Month	2) NOx - EPA Auction Proceeds, received during Expense Month	 Nox - Net Gain or Loss from NOx Allowances Sales, received during Expense Month 	Total Net Proceeds from NOx Allowances	Total Net Gain or (Loss) from Emission Allowance Sales	Total Current Period Revenue Requirement, CRR Record on ES FORM 1.00.	
	P. S.	-										ო	4	

KENTUCKY POWER COMPANY - ENVIRONMENTAL SURCHARGE REPORT CURRENT PERIOD REVENUE REQUIREMENT COSTS ASSOCIATED WITH BIG SANDY

For the Expense Month of April 2008

<u> </u>	COST COMPONENT	REVISED AMOUNT	REVISED AMOUNT	FILED	FILED	DIFFERENCE	DIFFERENCE
	Refum on Rate Base :					•	888.00.000.000.000.000.000.000.000.000.
-	Utility Plant at Original Cost	\$191,212,371		\$191,212,371		2	
2	Less Accumulated Depreciation	(\$41,066,970)		(\$41,066,970)		2	
9	Less Accum. Def. Income Taxes	(\$36,671,155)		(\$36,671,155)		U.S.	
4	Net Utility Plant		\$113,474,246		\$113,474,246		2
r.	SO2 Emission Allowance Inventory from ES FORM 3.11		\$9,625,291		\$9,625,291		25
9	ECR & NOx Emission Allowance Inventory from ES FORM 3.12		Q#		0\$		2
_	Cash Working Capital Allowance from ES FORM 3.13, Line 12		\$89,962		\$89,962		<u> </u>
∞	Total Rate Base		\$123,189,499		\$123,189,499		O.S.
6	Weighted Average Cost of Capital · ES FORM 3.15	10,15%		10,15%		0.00%	
9	Monthly Weighted Avg. Cost of Capital (9) / 12		0.85%		0.85%		6000
Ξ	Monthly Return of Rate Base (8) * (10)		\$1,047,111		\$1,047,111		<u> </u>
	Operating Expenses:						ŧ
12	Monthly Depreciation Expense		\$576,889		\$576,889		7
5	Monthly Catalyst Amortization Expense		\$46,030		\$45,030		2 6
74	Monthly Property Taxes		\$14,454		\$14,454		P 6
5	Monthly Kentucky Air Emissions Fee		\$30,246		\$30,246		2
	Monthly Environmental AEP Pool Capacity Costs						
9			\$1,336,630		\$1,336,630		A 6
1	Monthly 2003 Plan Non-Fuel O&M Expenses from ES FORM 3.13		\$59,753		\$59,753		
9	Monthly SO2 Emission Allowance Consumption		\$193,923		\$193,923		æ. 6
19	Monthly ERC & NOx Emission Allowance Consumplion		8				Al è
20	Total Operating Expenses (Line 12 thru Line 18)		\$2,257,925		\$2,257,925		Ā.
77	Total Revenue Requirement - Big Sandy				10 C		6
	Record on ES FORM 3.00, Line 1		\$3,305,036		44,300,000		÷

ES FORM 3.14 Page 1 of 11

REVISED - March 20, 2009

KENTUCKY POWER COMPANY - ENVIRONMENTAL SURCHMRGE REPORT CURRENT PERIOD REVENUE RECUIREMENT AEP POOL MONTHLY ENVIRONMENTAL CAPACITY COSTS

For the Expense Month of April 2008

불흥운

		REV	REVISED AMOUNTS		•	FILED AMOUNTS			DIFFERENCE	
Cost Component (2)		Ohlo Power Company's Environmentel Cost to KPCo (3)	Michigan Power Company's Environmental Cost to KPCo (4)	Total (5)	Ohlo Power Company's Environmental Cost to KPCo (6)	Michigan Power Compary's Environmental Cost to KPCo (7)	Total (8)	Ohlo Power Company's Environmental Cost to KPCo (8)	Michigen Power Compeny's Environmental Cost to KPCo (10)	Total (11)
Amos Unit No. 3 Environmental Cost to Kentucky Power (ES FORM 3.14, Pege 3 of 11, Line 24)		\$51,268			\$51,268			0\$		
Cardinal Unit No. 1 Environmental Cost to Kentucky Power (FORM 3.14, Page 4 of 11. Une 22)	(E8	\$69.578			\$68,578			os		
Gavin Plant Environmental Cost to Kentucky Power (ES FORM 3.14, Page 5 of 11, Line 28)		\$509.018			\$509,018			0\$		
Kannanar Plant Environmental Cost to Kentucky Power (E. FORM 3.14, Page 6 of 11, Line 20)	(ES	\$3,662			\$3,662			OS		
Milchell Phant Environmental Cost to Kentucky Power (ES FORM 3.14, Paga 7 of 11. Line 23)		\$611.654			\$611,554			S		
MuskingumPlant Environmental Cost to Kantucky Power (ES FORM 3,14, Page 8 of 11, Line 20)		\$73,240			\$73,240			95		
Sporn Plant Environmental Cost to Kentucky Power (ES FORM 3.14, Page 5 of 11, Une 20)		\$10,986			\$10,986			ůs.		
Rockpat Plent Environmental to Kanbucky Power (ES FORM 3.14, Page 10 of 11, Colum 5, Une 21)			0\$			0\$			0\$	
Tenners Greek Plant Erwinnmental Cost to Kentucky Power (ES FORM 3,14. Page 11 of 11, Une 20)			\$7.324			\$7,324			O\$	
Total AEP Pool Monthly Environmental Capacity Costs 10 Kentucky Power		\$1,329,306	\$7.324	\$1,336.830	\$1,329,306	\$7,324	\$1,335,630	05	0\$	0\$

Note: Cast in Column 5, Line 10 is to be recorded on ES FORM 3.10, Line 16.

2

ES FORM 3.14 Page 2 of 11

REVISED - March 20, 2009

KENTUCKY POWER COMPANY - ENVIRONMENTAL SURCIVARGE REPORT CURRENT REQUIREMENT AEP POOL MONTHLY ENVIRONMENTAL CAPACITY COSTS WORKING CAPITAL ONLY

For the Expense Month of April 2008

	Total (1-1)																	0\$
									0\$	0\$	0	20	2	Ė	*	8	6	20
DIFFERENCE	Michigan Power Company's (18.M) Environmental Cost to KPCo (10)								•	•	•	•	8,108,000	\$0.00	8.00%	\$0.00	366,200	
	Ohlo Power Company's (OPCo) Environmental Cost to KPCo (8)	0\$	20	\$30,207	Ş	90	\$	Ω\$				\$30,207	8,418,000	\$0.00	82.00%	\$0.00	366,200	80
	Total (B)																	\$435,778
FILED AMOUNTS Indiana	Michigan Power Comprony's (I&M) Environmental Cost to KPCo (7)								\$15,825	0\$	\$16,625	\$31,250	5,108,000	\$0.01	8.00%	\$0.00	366,200	8
FIL	Ohio Power Company's (OPCo) Environmental E Cost to KPCo (8)	\$62,450	\$403,280	\$8,151,335	\$18,169	\$817,908	\$373,888	\$14,415				\$10,841,581	8.418,000	\$1.29	92.00%	\$1,18	368,200	\$435,778
	Total (5)																	\$435,778
REVISED AMOUNTS inclinia	Michigan Power Company's (I&M) Environmental Cost to KPCo (4)								\$15,825	0\$	\$15,625	\$31,250	5,108,600	\$0.01	第.00%	\$0.00	366,200	D 3
REVI	Ohlo Power Company's (OPCo) Environmental I Cost to KPCo (3)	\$62,450	\$403,280	\$9,181,542	\$18,189	\$817,908	\$373,998	\$14,415				\$10,871,788	8,418,000	\$1,29	92.00%	\$1.19	368,200	\$435,778
	Line Cost Component (1) (2)	Amos Unil No. 3 Environmental Cost to Kanlucky Power I (ES FORM 3.14, Page 3 of 11, Line 18)	Cardinal Uni No. 1 Environmental Cost to Kentucky Power (ES FORM 3.14, Page 4 of 11, Line 12)	Gavin Plant Environmental Cost to Kentucky Power 3 (ES FORM 3.14, Page 5 of 11, Line 18)	Kammer Plant Environmental Cost to Kentucky Power 4 (ES FORM 3.14, Page 6 of 11, Lina 10)	Mitchell Plant Environmental Cost to Kentucky Power 5 (ES FORM 3.14, Page 7 of 11, Line 13)	MuskingumPlant Environmental Cost to Kentudky Power 6 (ES FORM 3,14, Page 8 of 11, Une 10)	Sporn Flant Environmental Cost to Kentucky Power 7 (ES FORM 3.14, Page 8 of 11, Line 10)	Rochpot Plant Environmental to Kentucky Power 6 (ES FORM 3,14, Page 10 of 11, Column 3, Line 10)	Rockport Plant Environmental to Kentucky Power 9 (ES FORM 3.14, Page 10 of 11, Columns 4 & 5, Line 10)	Torriers Creek Plant Environmental Cost to Kentucky Power 10 (ES FORM 3.14, Page 11 of 11, Line 10)	11 Subtablei	Steam Capacity By Company- 12 OPCo (Column 3)/ ISM (Column 4) (frw)	13 Endronmental Base (\$fire)	14 Company Surplus Weighting	Porton of Weighind Average Capacity Rate Attributed 15 to Environmental Fixed OBM Costs	18 Kentucky Power Capacity Defick (hw)	17 Fixed O&M Environmental Cost to Kentucky Power
	325	_		,	•		_		-		4	-		•	•	•		

Note: Cost in Column 5, Line 17 is to be recorded on ES FORM 3,13, Une 2.

24 25

26

ES FORM 3,14 Page 5 of 11

REVISED - March 20, 2009

KENTUCKY POWER COMPANY - ENVIRONMENTAL SURCHARGE REPORT CURRENT PERIOD REVENUE REQUIREMENT OHIO POWER COMPANY (OPCo) - GAVIN PLANT (UNITS 1 & 2)

For the Expense Month of April 2008

NO.

COST	AMOUNTS	AMOUNTS	AMOUNTS
Utility Plant at Orldinel Cost	\$257,303,001	\$257,303,001	\$
Member Primary Capacity Investment Rate (16.44% / 12)	1.37%	1,37%	1.37%
Total Rate Base	\$3,525,051	\$3,525,051	O#
Operations :			-
Sludge Disposal (5010000)	\$866,910	\$866,910	0\$
Lime (502001)	\$2,648,113	\$2,648,113	0\$
Urea (5020002)	\$480,215	\$480,215	OS
Trona (5020003)	\$328,714	\$328,714	0\$
Lime Stone (5020004)	\$0	\$	0\$
Air Emission Fee	\$30,207	\$0	\$30,207
Lease (5070005)	\$4,355,500	\$4,355,500	30
Total Operations (Lines 4 thru 10)	\$8,709,659	\$8,679,452	\$30,207
Maintenance:			
SCR Maintenance (5120000)	\$194,897	\$194,897	\$0
Scrubber Maintenance (5120000)	\$748,869	\$748,869	30
Total Maintenance (12) + (13)	\$943,766	\$943,768	₩
1/2 of Maintenance (13) * 50%	\$471.883	\$471.883	S
Fixed O&M (11) + (15)	\$9.181.542	\$9.151,335	\$30.207
Total Revenue Requirement,			
Cost Associated with Gavin Plant (3) + (16)	\$12,706,593	\$12,676,386	\$30,207
Ohio Power Company's Percentage Ownership	100.00%	100.00%	100.00%
OPCo's Share of Cost Associated with Gavin Plant (17) X (18)	\$12,706,593	\$12,676,386	\$30,207
Ohio Powsr Company Steam Capacily (kw)	8,418,000	8,418,000	8,418,000
Gavin Plant (\$/kw)	\$1.51	\$1.51	\$0.00
Ohio Power Surplus Weighing	95.00%	95.00%	0.00%
Portion of Weighted Average Capacity Rate			
Attributed to Gavin Plant (\$/kw) (21) X (22)	\$1.39	\$1,39	\$0,00
Gavin Plant Costs to Kentucky Power:			•
Gavin Plant Portlon (\$/kw) (23)	\$1.39	\$1.39	\$0.00
Kentucky Power Capacity Deficit (kw)	366.200	366.200	366.200
Gavin Plant Environmental Cost to Kentucky Power (24) * (25)		1	•
(ES FORM 3.14, Page 1 of 10, Line 3)	\$509,018	\$509,018	O\$

25456

17 18 19 20 21 22 23 23

ES FORM 1.00

KENTUCKY POWER COMPANY - ENVIRONMENTAL SURCHARGE REPORT CALCULATION OF E(m) and SURCHARGE FACTOR For the Expense Month of May 2008

	CALCULATION OF E(m) E(m) = CRR - BRR	REVISED AMOUNT	FILED AMOUNT	DIFFERENCE
LINE 1	CRR from ES FORM 3.00	\$3,536,330	\$3,536,326	\$4
LINE 2	Brr from ES FORM 1.10	1,514,859	1,514,859	0
LINE 3	E(m) (LINE 1 - LINE 2)	\$2,021,471	\$2,021,467	\$4
LINE 4	Kentucky Retail Jurisdictional Allocation Factor, from ES FORM 3.30, Schedule of Revenues, LINE 1	66.6%	66.6%	66.6%
LINE 5	KY Retail E(m) (LINE 3 * LINE 4)	\$1,346,300	\$1,346,297	\$3
LINE 6	Over/(Under) Recovery Adjustment from ES FORM 3.30	\$47,335	\$47,335	\$0
LINE 7	Net KY Retail E(m) (LINE 5 + LINE 6)	\$1,393,635	\$1,393,632	\$3
	SURCHARGE FACTOR			
LINE 8	Net KY Retail E(m) (Line 7)	\$1,393,635	\$1,393,632	\$3
LINE 9	KY Retail R(m) from ES FORM 3.30	\$29,576,964	\$29,576,964	
LINE 10	Environmental Surchage Factor for Expense Month (Line 8 / LINE 9)	4.7119%	4.7119%	

Effective Date for Billing:	July 2008
Submitted By :	
Title:	Director Regulatory Services
TEIG .	Shedior riegalatory Solvisos
Date Submitted :	

ES FORM 3.00

REVISED - March 20, 2009

KENTUCKY POWER COMPANY - ENVIRONMENTAL SURCHARGE REPORT CURRENT PERIOD REVENUE REQUIREMENT For the Expense Month of May 2008

CALCULATION OF CURRENT PERIOD REVENUE REQUIREMENT

N S	COMPONENTS	REVISED AMOUNT	REVISED AMOUNT	FILED	FILED	DIFFERENCE	DIFFERENCE
-	First Component: Associated with Big Sandy Plant ((RB KP(C)) (ROR KP(C)/12)) + OE KP(C) ES FORM 3.10, Line 20		\$3,504,715		\$3,504,711		85
2	Second Component: Associated with Rockport Plant ((RB IM(C)) (ROR IM(C)/12)) + OE IM(C) ES FORM 3.20, Line 12		\$43,482		\$43,482		0\$
	Third Component: Net Proceeds from Emission Allowances Sales AS AS 1) SO2 - EPA Auction Proceeds received during Expense Month	0\$		D\$		0\$	
	2) SO2 - Net Gain or (Loss) from Allowance Sales, in compliance with the AEP Interim Allowance Agreement, received during Expense Month	\$11,867		\$11,867		0\$	
	Total Net Proceeds from SO2 Allowances	\$11,867		\$11,867		\$0	
	1) NOx - ERC Sales Proceeds, received during Expense Month	80		0\$		\$	
	2) NOx - EPA Auction Proceeds, received during Expense Month	90		\$ 0		0\$	
	3) NOx - Net Gain or Loss from NOx Allowances Sales, received during Expense Month	0\$		0\$		0\$	
	Total Net Proceeds from NOx Allowances	\$0		0\$	اسطال	0\$	
ო	Total Net Gain or (Loss) from Emission Allowance Sales		\$11,867		\$11,867		0\$
4	Total Current Period Revenue Requirement, CRR Record on ES FORM 1.00.		\$3,536,330		\$3,536,326		⇔

KENTUCKY POWER COMPANY - ENVIRONMENTAL SURCHARGE REPORT CURRENT PERIOD REVENUE REQUIREMENT COSTS ASSOCIATED WITH BIG SANDY

For the Expense Month of May 2008

1							
Š Š	COST COMPONENT						
	. cond class company						
	Notall of Ivale Dase	770 070 7078		4404 040 574		S	
_	Utility Plant at Ongmat Cost	1/6,212,1814		16,212,1814		2 (
2	Less Accumulated Depreciation	(\$41,689,889)		(\$41,689,889)		0.4	
ო	Less Accum, Def, Income Taxes	(\$36,952,086)		(\$36,952,086)		0\$	
4	Net Utility Plant		\$112,570,396		\$112,570,396		Q.
35	SO2 Emission Allowance Inventory from ES FORM 3.11		\$9,557,907		\$9,557,907		Q\$
9	ECR & NOx Emission Allowance Inventory from ES FORM 3.12		0\$		G#		<u></u>
7	Cash Working Capital Allowance from ES FORM 3.13, Line 12		\$115,927		\$115,489		\$458
80	Total Rate Base		\$122,244,230		\$122,243,772		\$458
6	Weighted Average Cost of Capital - ES FORM 3.15	10.15%		10.15%		10,15%	
10	Monthly Weighted Avg. Cost of Capital (9) / 12		9828		0.85%		0.85%
7	Monthly Return of Rate Base (8) * (10)		\$1,039,076		\$1,039,072		25
	Operating Expenses:						
12	Monthly Depreciation Expense		\$576,889		\$576,889		G. 1
13	Monthly Calalyst Amortization Expense		\$46,030		\$46,030		G.
7.	Monthly Property Taxes		\$14,454		\$14,454		G ;
15	Monthly Kentucky Air Emissions Fee		\$30,246		\$30,246		2
	Monthly Environmental AEP Pool Capacity Costs						,
16	from ES FORM 3.14, Page 1 of 11, Column 5, Line 10		\$1,483,110		\$1,483,110		OS :
17	Monthly 2003 Plan Non-Fuel O&M Expenses from ES FORM 3.13		\$248,172		\$248,172		05
18	Monthly SOZ Emission Allowance Consumption		\$66,738		\$66,738		0,
19			200		80		
20	Total Operating Expenses [Line 12 thru Line 18]		\$2,465,639		\$2,465,639		05
21	Total Revenue Requirement - Big Sandy				5555		
	Record on ES FORM 3.00, Line 1		\$3,504,715		\$3,504,711		27

KENTUCKY POWER COMPANY - ENVIRONMENTAL SURCHARGE REPORT CURRENT PERIOD REVENUE REQUIREMENT

REVISED - March 20, 2009

For the Expense Month of May 2008

NO.	O&M Expenses	REVISED AMOUNT	REVISED AMOUNT	FILED AMOUNT	FILED	DIFFERENCE
-	1997 Plan: Monthly Kentucky Air Emissions Fee	\$30,246		\$30,246	-	
7 to 4	l otal Monthly AEP Pool Environmental Capacity Costs Monthly SO2 Allowance Consumption Total 1997 Plan O&M Expenses	\$582,258 \$66,738	\$679,242	\$578,596 \$66,738	\$975,580	\$3,662
יט מ	2003 Plan: Monthly Varible Cladding at Big Sandy Unit 1 Monthly Urea Consumption at Big Sandy Unit 2	0\$ 0\$		0\$	•	
) ~ 60	Monthly ERC & NOX Allowance Consumption	0,5		0,0,0		
9 6 E	Equipment - Associated Operating Expenses Equipment - Associated Maintenance Expenses Total 2003 Plan O&M Expenses	\$248,172	\$248.172	\$248,172	\$248,172	0
12	Total Monthly O&M Expenses		\$927,414		\$923,752	\$3,662
13	Cash Working Capital Allowance (Line 12 X 1/8)		\$115,927		\$115,469	\$458

Total Cost at Line 11 is to be recorded on ES FORM 3.10, Line 7.

ES FORM 3.14 Page 1 of 11

REVISED - March 20, 2008

KENTUCKY POWER COMPANY - ENVIRONMENTAL SURCHARGE REPORT CURRENT PERIOD REVENUE REQUIREMENT AEP POOL MONTHLY ENVIRONMENTAL CAPACITY COSTS

For the Expense Month of May 2008

Totel (11)										8
DIPFERENCE Indiana Michigan Powar Company's Erwironmental Cost to KPCo (10)								O\$	9	80
Chilo Power Company's Environmental Cost to KPCo (9)	0\$	0\$	0\$	80	9	95	0\$			0 5
Total (8)										\$1.483,110
FILED AMOUNTS inclina Michigan Power Company's Environmental Cost to KPCo (7)								05	\$7,324	57.324
Chito Power Company's Environmental Cost to KPCo (8)	\$62.254	576,802	\$626,202	\$3,662	\$629,864	\$65,916	\$10.986			\$1,475,788
Tolei (5)										\$1,483,110
REVISED AMOUNTS Indiens Michigan Power Company's I Environmental Cost to KFCo								0\$	\$7,324	\$7,324
RE Chio Power Company's Environmental Cost to KPCo (3)	\$62,254	\$76.802	\$626,202	\$3.662	\$629,864	\$65,916	\$10,988			\$1,475,786
		(ES		(E3						
Cast Component (2)	Amos Unit No. 3 Ervironmental Cost to Kantudy Power (ES FORM 3.14, Page 3 of 11, Line 24)	Cardina Unit No. 1 Environmental Cost to Kentucky Power FORM 3.14, Page 4 of 11, Une 22)	Gavin Plant Environmental Cost to Kenbucky Power (ES FORM 3.14, Pege 6 of 11, Line 26)	Kammer Plant Environmental Cost to Kentudky Power FORM 3.14, Page 6 of 11, Une 20)	Milchel Plani Ervironmental Cost to Kantudry Power (ES FORM 3.14, Page 7 of 11, Une 23)	MuskingumPlant Environmental Cost to Kentucky Power (ES FORM 3.14, Paga 8 of 11. Line 20)	Sporn Plant Environmental Cost to Kentucky Power (ES FORM 3.14. Page 9 of 11. Line 20)	Rockpat Plant Environmental to Kentucky Power (ES FORM 3.14, Page 10 of 11, Column 5. Une 21)	Tenners Creek Plant Erwironmental Cost to Kentudcy Power (ES FORM 3.14, Page 11 of 11, Une 20)	Total AEP Pool Monthy Environmental Capachy Costs to Kenbicky Power
Line No.	-	8	m	4	ω.	ш	_	60	Ct Ct	₽

Note: Cost in Column 5, Lina 10 is to be recorded on ES FORM 3.10, Lina 16,

KENTUCKY POWER COMPANY - BAVIRONMBYTAL SURCHARGE REPORT CURRENT PERIOD REVENUE RECAIREMENT AEP POOL MONTHLY EMMENABRYAL CAPACITY COSTS WORKING CAPITAL ONLY

REVISED - March 20, 2009

For the Expense Month of May 2008

	Total (11)																	\$3,682
	DIFFERENCE inclients Michigan Porrer Compary's Compary's Cast to KPCo (10)								os S	0\$	9	9	5,108,000	8 0'0 8	8.00%	\$0,0\$	366,200	9\$
	Ohio Power Company's COCOCOCOCOCOCOCOCOCOCOCOCOCOCOCOCOCOCO	0.5	\$	\$30,207	0\$	0\$	D\$	0\$				\$30,207	8,418,000	80.00	92.00%	\$0.00	388,200	0 5
	Totel (8)																	\$578,598
	FILED AMOUNTS Indiens Michigan Porest Company's Company's (REM) Environmental Cost to KPCo								\$16,825	0\$	\$15,825	\$31,250	5.108,000	\$0.01	8.00%	\$0.00	366,200	0\$
	Ohio Power Company's Company's Company's Corost to KPCo (6)	\$378,614	\$544,938	\$12,130,058	\$18,189	\$1,223,024	\$207,038	\$14,415				\$14,917,274	8,418,000	\$1,72	82.00%	\$1.58	366,200	\$578,586
	Total (5)																	\$582,258
	REVISED AMOUNTS Indiena Michigan Power Company's (GMN) Environmental Cost to KPCo (4)								\$15,625	0\$	\$19,625	\$31,250	6,108.000	\$0.01	8.00%	\$0.00	366,200	80
1	REV ONIO POWER COMPANY® (OPCO) EINVIENTMENTER E COST TO KPCO (3)	\$370,614	\$544,838	\$12,160,285	\$18,189	\$1,223,024	\$207,038	\$14,415				\$14,547,481	8.418,000	\$1.73	82.00%	\$1,59	366,200	\$582,250
•	Gust Component (2)	Arros Unit No. 3 Environmental Cost to Kentucky Power (ES FORM 3.14, Pape 3 of 11, Line 18)	Cardinal Unit No. 1 Environmental Cost to Kentucky Power (ES FORM 3.14, Page 4 of 11, Line 12)	Gavin Plant Environmental Cost to Kentucky Power (ES FORM 3,14, Page 5 of 11, Line 18)	Kommer Plant Environmental Cost to Kentucky Power (ES FORM 3.14, Page 8 of 11, Line 10)	Michell Plant Environmental Cost to Kentucky Power (ES FORM 3.14, Page 7 of 11, Line 13)	Muskingum Plent Environmental Cost to Kentucky Power (ES FORM 3.14, Page 8 of 11, Line 10)	Sport Plant Environmental Cost to Kentucky Power (ES FORM 3.14, Page 9 of 11, Line 10)	Rockpat Plant Environmental to Kentucky Power (ES FORM 3.14, Page 10 of 11, Colorm 3, Line 10)	Rockpart Plant Environmental to Kentucky Power (ES FORM 3.14, Page 10 of 11, Columns 4 & 5, Une 10)	Tanners Creek Plant Environmental Cost to Kentucky Power (ES FORM 3,14, Page 11 of 11, Une 10)	Subtotal	Steam Capacity By Company - 2 OPCo (Column 3) / IRM (Column 4) (frw)	13 Environmental Base (\$/kw)	14 Company Sumlus Weighling	Portion of Weighted Average Capacity Rete Attributed 15 to Environmental Fixed O&M Costs	16 Kentucky Power Capacity Deficit (kw)	17 Fixed O&M Endrormental Cost to Kenlucky Power
	₽ 8. E	-	7	43	*	40	60	7	100	6	5	Ę	12	¥	,	7-	÷	-

Note; Cost in Column 5, Une 17 is to be recorded on ES FORM 3.13, Une 2.

26

24 25

REVISED - March 20, 2009

ES FORM 3.14 Page 5 of 11

KENTUCKY POWER COMPANY - ENVIRONMENTAL SURCHARGE REPORT CURRENT PERIOD REVENUE REQUIREMENT OHIO POWER COMPANY (OPCo) - GAVIN PLANT (UNITS 1 & 2)

For the Expense Month of May 2008

LINE NO.

COST	REVISED AMOUNTS	FILED	DIFFERENCE
Utility Plant at Original Cost	\$257,303,001	\$257,303,001	\$
Member Primary Capacity Investment Rate (16,44% / 12)	1.37%	1.37%	1.37%
Total Rate Base	\$3,525,051	\$3,525,051	\$0
Operations :			
Sludge Disposal (5010000)	\$622,608	\$622,608	90
Lime (5020001)	\$4,586,443	\$4,586,443	\$0
Urea (5020002)	\$1,802,614	\$1,802,614	0\$
Trona (5020003)	\$630,208	\$630,206	\$0
Lime Stone (5020004)	\$0	20	\$0
Air Emission Fee	\$30,207	99	\$30,207
Lease (5070005)	\$4,355,500	\$4,355,500	8
Total Operations (Lines 4 thru 10)	\$11,927,578	\$11,897,371	\$30,207
Maintenance :			
SCR Maintenance (5120000)	\$42,715	\$42,715	\$
Scrubber Maintenance (5120000)	\$422,659	\$422,659	읈
Total Maintenance (12) + (13)	\$465,374	\$465,374	\$0
1/2 of Maintenance (13) * 50%	\$232,687	\$232,687	9
Fixed O&M (11) + (15)	\$12,160,265	\$12,130,058	\$30,207
Total Revenue Requirement,			
Cost Associated with Gavin Plant (3) + (16)	\$15,685,316	\$15,655,109	\$30,207
Ohio Power Company's Percentage Ownership	100.00%	100.00%	100.00%
OPCo's Share of Cost Associated with Gavin Plant (17) X (18)	\$15,685,316	\$15,655,109	\$30,207
Ohio Power Company Steam Capacity (kw)	8,418,000	8,418,000	8,418,000
Gavin Plant (\$/kw)	\$1.86	\$1.88	\$0.00
Ohio Power Surplus Weighing	92.00%	92.00%	92.00%
Portion of Weighted Average Capacity Rate Attributed to Gavin Plant (\$150), 7 (20)	£	94 74	000
Gavin Plant Costs to Kentucky Power;	7.1	7.19	20.00
Gavin Plant Portlon (\$/kw) (23)	\$1.71	\$1.71	\$0.00
Kentucky Power Capacity Deficit (kw)	366,200	366,200	366.200
Gavin Plant Environmental Cost to Kentucky Power (24) * (25)			
(ES FORM 3.14, Page 1 of 10, Line 3)	\$626,202	\$626,202	O\$

5 5 5 5 5

14 18 19 20 21 22 23 23

REVISED - March 20, 2009

ES FORM 1.00

KENTUCKY POWER COMPANY - ENVIRONMENTAL SURCHARGE REPORT CALCULATION OF E(m) and SURCHARGE FACTOR For the Expense Month of June 2008

	CALCULATION OF E(m)	REVISED	FILED	
	E(m) = CRR - BRR	AMOUNT	AMOUNT	DIFFERENCE
LINE 1	CRR from ES FORM 3.00	\$3,909,543	\$3,909,543	\$0
LINE 2	Brr from ES FORM 1.10	1,913,578	1,913,578	0
LINE 3	E(m) (LINE 1 - LINE 2)	\$1,995,965	\$1,995,965	\$0
LINE 4	Kentucky Retail Jurisdictional Allocation Factor, from ES FORM 3.30, Schedule of Revenues, LINE 1	64.4%	64.4%	64.4%
LINE 5	KY Retail E(m) (LINE 3 * LINE 4)	\$1,285,402	\$1,285,402	\$0
LINE 6	(Over)/Under Recovery Adjustment from ES FORM 3.30	\$80,405	\$80,405	\$0
LINE 7	Net KY Retail E(m) (LINE 5 + LINE 6)	\$1,365,807	\$1,365,807	\$0
	SURCHARGE FACTOR			
LINE 8	Net KY Retail E(m) (Line 7)	\$1,365,807	\$1,365,807	\$0
LINE 9	KY Retail R(m) from ES FORM 3.30	\$36,481,372	\$36,481,372	
LINE 10	Environmental Surchage Factor for Expense Month (Line 8 / LINE 9)	3.7438%	3.7438%	

Effective Date for Billing:	August 2008
Submitted By :	
Title:	Director Regulatory Services
Date Submitted :	July 18, 2008

ES FORM 3.00

REVISED - March 20, 2009

KENTUCKY POWER COMPANY - ENVIRONMENTAL SURCHARGE REPORT CURRENT PERIOD REVENUE REQUIREMENT For the Expense Month of June 2008

CALCULATION OF CURRENT PERIOD REVENUE REQUIREMENT

LINE NO.	COMPONENTS	REVISED AMOUNT	REVISED AMOUNT	FILED AMOUNT	FILED	DIFFERENCE	DIFFERENCE
-	First Component: Associated with Big Sandy Plant ((RB KP(C)) (ROR KP(C)/12)) + OE KP(C) ES FORM 3.10, Line 20		\$3,864,965		\$3,864,965		\$0
2	Second Component: Associated with Rockport Plant [((RB IM(C)) (ROR IM(C)/12)) + OE IM(C) ES FORM 3.20, Line 12		\$44,578		\$44,578		O\$
	Third Component: Net Proceeds from Emission Allowances Sales AS 1) SO2 - EPA Aucilon Proceeds received during Expense Month	09		O\$		0\$	
	 SO2 - Net Gain or (Loss) from Allowance Sales, in compliance with the AEP Interim Allowance Agreement, received during Expense Month 	0\$		0\$		○	
	Total Net Proceeds from SO2 Allowances	O\$*		0\$		\$0	
	1) NOx - ERC Sales Proceeds, received during Expense Month	0\$		\$0		\$	
	2) NOx - EPA Auclion Proceeds, received during Expense Month	0\$		\$		O\$	
	3) NOx - Net Gain or Loss from NOx Allowances Sales, received during Expense Month	\$0		\$		0\$	
	Total Net Proceeds from NOx Allowances	0\$		0\$		\$0	
n	Total Net Gain or (Loss) from Emission Allowance Sales		0\$	при	0\$		80
4	Total Current Period Revenue Requirement, CRR Record on ES FORM 1.00.		\$3,909,543		\$3,909,543		0\$

REVISED - March 20, 2009

KENTUCKY POWER COMPANY - ENVIRONMENTAL SURCHARGE REPORT CURRENT PERIOD REVENUE REQUIREMENT COSTS ASSOCIATED WITH BIG SANDY

2008
June
outh o
Хрепѕе М
For the E

Utility Plant at Original Cost	를 S.	GOST COMPONENT	REVISED AMOUNT	REVISED AMOUNT	FILED AMOUNT	FILED	DIFFERENCE	DIFFERENCE
Holling Plant at Original Cost Less Accumulated Depreciation Ralum on Rale Base Step 212.2371 Step 212.2371 Step 212.2371 Step 212.2371 Step 212.2371 Step 212.2371 Step 212.2372 Step 2								
Less Accumulated Optraciation		Refurn on Rale Base:		0.0000000000000000000000000000000000000	7,000	00/00/00/00/00/00/00/00/00/00/00/00/00/	6	
Less Accumulated Depreciation See Active Set 11,1566,537 So ZE mission Allowance Inventory from ES FORM 3.14 So ZE A NOX Emission Allowance Inventory from ES FORM 3.14 So ZE A NOX Emission Allowance Consumption Constitution Consti	Ψ-	Utility Plant at Original Cost	\$191,212,371		176,212,1914		7	
Less Arcum. Def. Income Taxes Astronome Taxes Astronome Taxes Astronome Taxes Astronome Taxes	7	Less Accumulated Depreciation	(\$42,312,808)		(\$42,312,808)		2	
Still, Feb 537 Stil	e	Less Accum. Def. Income Taxes	(\$37,233,026)		(\$37,233,026)		0\$	
SOZ Emission Allowance Inventory from ES FORM 3.12 SOZ Emission Allowance Inventory from ES FORM 3.12 SOZ Emission Allowance Inventory from ES FORM 3.12 Line 12 SOZ Emission Allowance Inventory from ES FORM 3.12 Line 12 SOZ Emission Allowance from ES FORM 3.12 Line 12 SOZ Emission Allowance from ES FORM 3.13 Line 12 SOZ Emission Allowance from ES FORM 3.15 Line 12 SOZ Emission Allowance from ES FORM 3.15 Line 12	4	Net Utility Plant		\$111,666,537		\$111,666,537		Q\$
ECR & NOx Emission Allowance Inventory from ES FORM 3.12 \$162,021 \$162,021 \$112,244,249 \$112,1244,249 \$112,1244,249 \$112,1244,249 \$112,1244,249 \$112,1244,249 \$112,1244,249 \$112,12	ß	SO2 Emission Allowance Inventory from ES FORM 3.11		\$9,415,691		\$9,415,691		S-
Stind Register Stin	6	ECR & NOx Emission Allowance Inventory from ES FORM 3.12		0\$		20		C\$
Total Rate Base \$121,244,249 \$121,244,249 Weighted Average Cost of Capital - ES FORM 3.15 10.15% \$1,030,576 Monthly Weighted Average Cost of Capital (9) / 12 \$1,030,576 \$1,030,576 Monthly Return of Rate Bases (8) * (10) * (10) \$1,030,576 \$1,030,576 Monthly Depreciation Expense \$578,889 \$46,030 Monthly Property American Expense Monthly Property Capital Amortization Expense \$14,454 Monthly Property American Expense Monthly Experty American \$14,454 Monthly Experty American \$14,454 \$14,454 Monthly Expenses from ES FORM 3.14, Fage 1 of 11, Column 5, Line 10 \$1,439,166 Monthly SOZ Emission Allowance Consumption \$1,439,166 Monthly EXC & NOx Emission Allowance Consumption \$2,834,389 Total Operating Expenses (Line 12 thru Line 18) \$2,834,389 Total Revenue Requirement - Big Sandy \$3,864,965	7	Cash Working Capital Allowance from ES FORM 3.13, Line 12		\$162,021		\$162,021		D#
Weighted Average Cost of Capital - ES FORM 3.15 10.15% 0.88% 0.88% Monthly Weighted Average Cost of Capital (9) / 12 \$1,030,576 \$1,030,576 \$1,030,576 Monthly Weighted Avg. Cost of Capital (9) / 12 \$1,030,576 \$1,030,576 \$1,030,576 Monthly Return of Rate Base (8) * (10) \$578,889 \$578,889 \$578,889 Monthly Capital Expense \$14,454 \$14,454 \$14,454 Monthly Environmental AFEP Pool Capacity Costs \$14,454 \$14,454 \$14,454 Monthly Environmental AFEP Pool Capacity Costs \$14,439,166 \$14,439,166 \$14,439,166 \$14,439,166 \$14,231 \$14,231 \$14,231 \$14,231 \$14,231 \$14,231 \$14,231 \$14,231 \$14,231 \$14,231 \$14,231 \$14,231 \$14,231 \$14,331,332 \$14,331,332 \$14,331,332 \$14,331,332 \$14,331,332 \$14,432,145 \$14,432,145 \$14,432,145 \$14,432,145 \$14,432,145 \$14,432,145 \$14,432,145 \$14,432,145 \$14,432,145 \$14,432,145 \$14,432,145 \$14,432,145 \$14,432,145 \$14,432,145 \$14,432,145 \$	8	Total Rate Base		\$121,244,249		3338		\$
Monthly Weighted Avg. Cost of Capital (9) / 12 Monthly Return of Rate Base (8) * (10) Operating Expenses: Monthly Depreciation Expense Monthly Depreciation Expense Monthly Property Taxes Monthly Property Taxes Monthly Return of Rate Base (8) * (10) \$14,454 \$30,246 Monthly Property Taxes Monthly Return Expenses Monthly Return Expenses Monthly Return Expenses Monthly Property Taxes Monthly Property Taxes Monthly Property Taxes Monthly Property Taxes Monthly Expenses from Es FORM 3.13 #14,439,166 #14,43	6	Weighted Average Cost of Capital - ES FORM 3.15	10.15%		10.15%		10.15%	
Monthly Return of Rate Base (8) * (10) Operating Expenses: Monthly Depreciation Expense Monthly Catalyst Amortzation Expense Monthly Catalyst Amortzation Expense Monthly Property Taxes Monthly Emissions Fee Monthly Emission Expenses from ES FORM 3.13 Monthly Expenses for Expenses from ES FORM 3.13 Monthly EXC & NOX Emission Allowance Consumption Total Operating Expenses (Line 12 thru Line 19] Total Revenue Requirement - Bis Sandy Record on ES FORM 3.00, Line 1	10	Monthly Weighted Avg. Cost of Capital (9) / 12		0.85%		0.85%		0.85%
Monthly Depreciation Expenses: Monthly Depreciation Expense Monthly Depreciation Expense Monthly Charlest Amortization Expense Monthly Property Taxes Monthly Experty Taxes Monthly Experty Taxes Monthly Experty Taxes Monthly Experty Taxes Monthly Expenses from ES FORM 3.13 Monthly SOZ Emission Allowance Consumption \$1.439.186 \$1.439.186 \$1.439.186 \$2.034.389 Monthly EXC & NOX Emission Allowance Consumption \$2.034.389 Total Operating Expenses [Line 12 thru Line 18] Total Revenue Requirement - Bis Sandy Record on ES FORM 3.00, Line 1 \$2.034.389	÷	Monthly Return of Rate Base (8) * (10)		\$1,030,576		\$1,030,576		O\$*
Monthly Depreciation Expense \$576,889		Operating Expenses:				35.74		****
Monthly Catelyst Amortization Expense \$46,030	17	Monthly Depreciation Expense		\$576,889		\$576,889		90
Monthly Property Taxes Monthly Kentucky Air Emissions Fee Monthly Kentucky Air Emissions Fee Monthly Environmental AEP Pool Capacity Costs from ES FORM 3.14, Page 1 of 11, Column 5, Line 10 Monthly 2002 Pirni Von-Fuel O&M Expenses from E9 FORM 3.13 Monthly 2002 Pirnison Allowance Consumption Monthly ERC & NOX Emission Allowance Consumption \$2,833,389 Total Operating Expenses (Line 12 thru Line 18) Total Operating Expenses (Line 12 thru Line 18) Total Revenue Requirement - Big Sandy Record on E9 FORM 3.00, Line 1	5	Monthly Catalyst Amortization Expense		\$46,030		\$46,030		C\$
Monthly Kentucky Air Emissions Fee Monthly Evantucky Air Emissions Fee Monthly Evantucky Air Emission State from ES FORM 3.14, Page 1 of 11, Column 5, Line 10 Monthly 2003 Plant Non-Fuel O&M Expenses from ES FORM 3.13 Monthly SOZ Emission Allowance Consumption Monthly SOZ Emission Allowance Consumption Soz. 634.339 Total Operating Expenses (Line 12 thru Line 18) Total Revenue Requirement - Big Sandy Record on ES FORM 3.00, Line 1	#	Monthly Property Taxes		\$14,454		\$14,454		S
Monthly Environmental AEP Pool Capacity Costs from ES FORM 3.14, Page 1 of 11. Column 5, Line 10 Monthly 2003 Plan Non-Fuel O&M Expenses from ES FORM 3.13 Monthly SOZ Emission Allowance Consumption Total Operating Expenses (Line 12 thru Line 18] Total Revenue Requirement - Big Sandy Record on ES FORM 3.00, Line 1	ŧ	Monthly Kentucky Air Emissions Fee		\$30,246		\$30,246		0\$
from ES FORM 3.14, Page 1 of 11, Column 5, Line 10 \$1,439,186 Monthly 2003 Plan Non-Fuel O&M Expenses from E9 FORM 3.13 \$565,389 Monthly 8.02 Emission Allowance Consumption \$1,42,215 Monthly ERC & NOx Emission Allowance Consumption \$2 Total Operating Expenses [Line 12 thru Line 18] \$2,834,389 Total Revenue Requirement - Big Sandy \$3,864,965 Record on ES FORM 3.00, Line 1 \$3,864,965		acity Co.				55/10		
Monthly 2003 Plan Non-Fuel O&M Expenses from ES FORM 3.13 \$585,389 Monthly SOZ Emission Allowance Consumption Monthly ERC & NOx Emission Allowance Consumption Total Operating Expenses (Line 12 thru Line 18) Total Revenue Requirement - Big Sandy Record on ES FORM 3.00, Line 1	9	from ES FORM 3.14, Page 1 of 11, Column 5, Line 10		\$1,439,186		\$1,439,166		05
Monthly SOZ Emission Allowance Consumption Monthly ERC & NOx Emission Allowance Consumption Solution Superior	11	Monthly 2003 Plan Non-Fuel O&M Expenses from ES FORM 3.13		\$585,389		\$585,389		O\$
Monthly ERC & NOx Emission Allowance Consumption Total Operating Expenses (Line 12 thru Line 18) Total Revenue Requirement - Big Sandy Record on ES FORM 3.00, Line 1	18	Monthly SO2 Emission Allowance Consumption		\$142,215		\$142,215		0\$
Total Operating Expenses (Line 12 thru Line 18] Total Revenue Requirement - Big Sandy Record on ES FORM 3.00, Line 1	19	Monthly ERC & NOx Ernission Allowance Consumption		윪		9		3
Total Revenue Requirement - Big Sandy Record on ES FORM 3.00, Line 1	20	Total Operating Expenses [Line 12 thru Line 18]		\$2,834,389		\$2,834,389		3
\$3,864,965	7	Total Revenue Requirement - Big Sandy						
		Record on ES FORM 3.00, Line 1		\$3,864,965		\$3,864,965		C\$

ES FORM 3.14 Page 1 of 11

REVISED - March 20, 2009

KENTUCKY POWER COMPANY - ENVIRONMENTAL SURCHARGE REPORT CURRENT PERIOD REVENUE HEQUIREMENT AEP POOL MONTHLY ENVIRONMENTAL CAPACITY COSTS

For the Expense Month of June 2008

Cost Component (2)		REI Ohlo Power Company's Environmental Cost to KPCo	REVISED AMOUNTS Indian Matigan Power Companys Environmental Cost to RFCo (4)	Total (5)	Ohio Power Contpary's Ervironmental Cost to KPCo (8)	FILED AMOUNTS Indiana Michigan Power Company's Environmental Cost to KPCo	Totel (8)	Ohlo Power Company's Ervitorinental Cost to KPCo (9)	DIFFERENCE Indiena Michigen Power Company's Ervironmental Cost to KPCo	Total (11)
Amos Unit No. 3 Environmental Cost to Kentucky Power (ES FORM 3.14, Page 3 of 11. Une 24)		\$62,264			\$62,254			0\$,	
Cardinal Unil No. 1 Environmental Cost to Kentucky Power (E FORM 3.14. Page 4 of 11, Line 22)	(ES	\$80,564			\$80,564			20		
Gevin Plant Environmental Cost fo Kentucky Power (ES FORM 3.14, Page 5 of 11, Line 26)		\$571,272			\$671,272			0\$		
Kammer Plant Ervironmental Cost to Kentucky Power (ES FORM 3, 14, Page 8 of 11, Line 20)	ø.	\$3.662			\$3.662			\$0		
Mitchell Plant Environmental Cost to Kentucky Power (ES FORM 3.14, Page 7 of 11, Une 23)		\$629.864			\$629,864			S		
MuskingumPlant Environmental Cost to Kentucky Power (ES FORM 3.14, Page 8 of 11, Line 20)		\$73,240			\$73,240			S		
Sporn Plant Environmental Cost to Kentucky Power (ES FORM 3.14, Page 8 of 11, Line 20)		\$10,986			\$10,986			80		
Rockport Plant Environmental to Kentucky Power (ES FORM 3.14, Page 10 of 11, Coturn 5. Line 21)			SS.			20			0\$	
Tenners Greek Plant Environmental Cost to Kentucky Power (ES FORM 3.14, Page 11 of 11, Une 20)			\$7,324			\$7,324			O\$	
Total AEP Pool Monthly Environmental Capacity Costs to Kentucky Power		\$1,431,842	\$7,324	\$1,439,166	\$1,431,842	\$7,324	\$1.439,166	os	0\$	80

Note: Cost in Column 5, Une 10 is to be recorded on ES FORM 3.10, Une 16,

5

ES FORM 3.14 Page 2 of 11

REVISED - March 20, 2009

KENTUCKY POWER COMPWY - ENVIRONMENTAL SURGYNRGE REPORT CURRENT PERIOD REPURSE RECUIREMENT A REP POOL MONILLY ENVIRONMENTAL CAPACITY COSTS WORKING CAPITAL ONLY.

For the Expense Month of June 2008

Total (11)																	0\$
DIFFERENCE Indigen Medigen Power Company's Campany's Environmental Coet to KPCo (10)								o s	o s	8	0	5,108,000	\$0.00	8.00%	\$0,00	366,200	05
Ohio Power Company's (Coptco) Environmental En Cost to KPCo C (9)	•	80	\$30,207	\$0	os	0\$	0\$				\$30,207	8,418,600	\$0.00	92.00%	\$0.00	356,200	20
Total																	\$538,314
FILED AMOUNTS Inclinate Micrigan Pover Company's (RAM) Environmental Cost to KPCo								\$15,825	80	\$16,825	\$31,250	6,108,000	10.01	8,00%	\$0.00	386,200	0\$
Otto Otto Power Company's (OPCo) Environmental Cost to KPCo	\$359,383	\$662,531	\$10,773,737	\$18,189	\$1,278,733	\$350,885	\$14,415				\$13,467,953	8,418,000	\$1,80	\$2.00%	\$1.47	388,200	\$538,314
Tored (5)																	\$538,314
REVIBED AMOUNTS Michigan Power Compeny's (MM) Environmental Cost to KPCo (4)								\$15,825	S	\$18,825	\$31,250	5,108.000	\$0.01	8,00%	\$0.00	368,200	0\$
RE Otho Power Company's (OPCo) Errufronnelal Cost to KPCo (3)	\$359,383	\$662,531	510,803,944	\$18,189	\$1,278,733	\$350,885	514,416				\$13,488,160	6.416,000	\$1.60	82.00%	\$1.47	366,200	\$638,314
Cost Component (2)	Amos Lhil No. 3 Environmental Cost to Kentucky Power (ES FORM 3.14, Page 3 of 11, Line 18)	Cardnal Unil No. 1 Environments! Cost to Kentucky Power (ES FORM 3.14, Page 4 of 11, Line 12)	Gavin Plant Environmental Cost to Kentucky Power (ES FORM 3.14, Page 5 of 11, Une 16)	Kammer Plant Environmental Cost to Kentucky Power (ES FORM 3.14, Page 8 of 11, Line 10)	Michel Plant Environmental Cost to Kentucky Power (ES FORM 3.14, Page 7 of 11, Line 13)	Muskingum Plant Environmental Cost to Kentucky Power (ES FORM 3.14, Page 8 of 11, Line 10)	Sport Plant Environmental Cost to Kentricky Power (ES FORM 3.14, Page 8 of 11, Line 10)	Rockparl Pizal Environmental to Kentucky Power (ES FORM 3.14, Page 10 of 11, Column 3, Line 10)	Rockport Plant Environmental to Kentucky Power (ES FORM 3.14, Page 10 of 11, Columns 4 & 5, Line 10)	Tambers Greek Plank Environmental Cost to Kentucky Power (ES FORM 3.14, Page 11 of 11, Une 10)	Subbitel	Steam Capacity By Company - OPCo (Column 3) / I&M (Golumn 4) (hw)	Environmental Base (SAw)	Company Surplus Weighfing	Portion of Weighbad Average Capacity Rate Attributed to Environmental Fixed OSM Costs	Kentucky Power Capacity Deficit (kw)	Fixed O&M Environmental Cost to Kanlucky Power
Ling 13.	•	7	r	₹	εŋ	0	۲	Ф	œ	\$	Ξ	17	5	Z	₹2	16	11

Note: Cost in Column 5, Une 17 is to be recorded on ES FORM 3.13, Une 2.

ES FORM 3.14 Page 5 of 11

REVISED - March 20, 2009

KENTUCKY POWER COMPANY - ENVIRONMENTAL SURCHARGE REPORT CURRENT PERIOD REVENUE REQUIREMENT OHIO POWER COMPANY (OPCo) - GAVIN PLANT (UNITS 1 & 2)

For the Expense Month of June 2008

N C	Foco	REVISED	FILED	T
		NICOME	MINOOINIS	DIFFERENCE
	the District of the State of th	700 400 1104		
- (Office of Chigh at Ch	100,505,7624	TUU, 6U6, 1624	<u></u>
7	Member Primary Capacity Investment Rate (16.44% / 12)	1.37%	1.37%	1.37%
ო	Total Rate Base	\$3,525,051	\$3,525,051	\$0
	Operations:			
4	Sludge Disposal (5010000)	\$947.231	\$947.231	80
က	Lime (5020001)	\$3 025 326	\$3 025 326	OS:
9	Urea (5020002)	\$1 892 743	\$1 892 743	C\$
7	Trona (5020003)	\$343.852	\$343.852	C. S.
80	Lime Stone (5020004)	90	08	C.S.
o	Air Emission Fee	\$30,207	08	\$30.207
10	Lease (5070005)	\$4,355,500	\$4,355,500	09
=	Total Operations (Lines 4 thru 10)	\$10,594,859	\$10,564,652	\$30,207
	Maintenance ;			
12	SCR Maintenance (5120000)	\$31,273	\$31,273	\$0
13	Scrubber Maintenance (5120000)	\$386,897	\$386.897	20
14	Total Maintenance (12) + (13)	\$418,170	\$418,170	0\$
15	1/2 of Maintenance (13) * 50%	\$209,085	\$209,085	0\$
16	Fixed O&M (11) + (15)	\$10,803,944	\$10,773,737	\$30,20Z
	Total Revenue Requirement,			
17	Cost Associated with Gavin Plant (3) + (16)	\$14,328,995	\$14,298,788	\$30,207
9	Ohlo Power Company's Percentage Ownership	100.00%	100.00%	100.00%
19	OPCo's Share of Cost Associated with Gavin Plant (17) X (18)	\$14,328,995	\$14,298,788	\$30,207
8	Ohlo Power Company Steam Capacity (kw)	8,418,000	8,418,000	8,418,000
73	Gavin Plant (\$/kw)	\$1.70	\$1.70	\$0.00
2	Ohlo Power Surplus Weighing	92.00%	92.00%	92.00%
23	Portion of Weighted Average Capacity Rate			
•	Attributed to Gavin Plant (\$/kw) (21) X (22)	\$1.56	\$1.56	\$0.00
	Gavin Plant Costs to Kentucky Power:			
74	Gavin Plant Portion (\$/kw) (23)	\$1.56	\$1.56	\$0.00
33	Kentucky Power Capacity Deficit (kw)	366.200	366,200	366,200
	Gavin Plant Environmental Cost to Kentucky Power (24) * (25)			
56	(ES FORM 3.14, Page 1 of 10, Line 3)	\$571,272	\$571,272	\$0

KPSC Case No. 2009-00038 Commission Staff First Set of Data Requests Order Dated February 12, 2009 Item No. 2 Page 1 of 1

Kentucky Power Company

REQUEST

The net gain or loss from sulfur dioxide ("SO2") and nitrogen oxide ("NOx") emission allowance sales are reported on ES Form 3.00, calculation of Current Period Revenue Requirement, Third Component. For each expense month covered by the applicable billing period, provide an explanation of how the gain or loss reported in the expense month was calculated and describe the transaction(s) that was the source of the gain or loss.

RESPONSE

We calculate the gain or losses on all allowances sales using this standard formula:

Sales Proceeds - Weighted Average Costs of Allowances Sold - Broker Fees + or - Option Premiums = Net Gain or Loss.

Any reported gains or losses are a result of selling SO2 or NOx allowances from our compliance inventory to external counter-parties.

KPSC Case No. 2009-00038 Commission Staff First Set of Data Requests Order Dated February 12, 2009 Item No. 3 Page 1 of 2

Kentucky Power Company

REQUEST

Refer to ES Form 3.13, the Operation and Maintenance Expense summary, Line 10, Equipment - Associated Maintenance Expenses. Explain the primary reasons(s) for the fluctuations in these maintenance expenses during the six expense months that make up each of the three review periods.

RESPONSE

The primary reasons for the fluctuations in these maintenance expenses incurred was the worked performed on the SCR Boiler Outlet Ductwork and the SCR North and South Booster Fans during the three review periods. Of the \$1.3M of total maintenance performed, \$0.867M or 67% pertained to the maintenance performed on the SCR Boiler Outlet Ductwork and SCR North and South Booster Fans.

Please see Page 2 of this response for further explanation of the maintenance costs.

Line No.	Month	Year	Amount	Description
				Billing Period from July 2007 through December 2007
1	Мау	2007	\$27,015.76	(1) Normal Operations of the SCR, (2) Repaired AOD gas flow monitors, (3) Repaired steam line vent to AOD, (4) Repairs to North & South stack inlet & outlet duct NOx monitors, (5) Unpluged the North & South booster fans instrument line, (6) Replaced packing on SCR bypass inlet damper shaft and (7) Repaired SCR ductwork from reactor outlet to air heater.
2	June	2007	\$139,590.08	(1) Normal Operations of the SCR, (2) Replace belt on air mover at the AOD building, (3) Inspected & repaired all SCR acoustic horns, (4) Service man to inspect and supervise repairs to the North & South booster fans, (5) Repair to the Right & Left stack monitors, (6) Unplugged the North & South booster fans instrument lines and (7) Install dust deflectors over SCR EJ20 return duct is wearing from flyash erosion (1) Normal Operations of SCR, (2) Repaired SCR ammonia leak at supply line just before the safety relief valve, (3) Repairs to #59 sonic horn, (4) Repairs to the North
3	July	2007	\$31,857.88	Booster fan operator done by Auma Actuators, Inc., (5) Annual inspection and repairs to the #1 SCR lay-up fan, (6) Repaired seal air to RX1 SCR damper and (7) Inspected and repaired the SCR inlet duct to reactor. (1) Normal Operations of the SCR, (2) Repaired SCR ammonia leak at supply line just before the safety relief valve, (3) Replaced stuck solenoid on the on acoustic horn, (4) Replaced SCR horn on #21 reactor 3rd row down, 3rd from south and (5) Very little
4	August	2007	\$6,390 66	maintenance activities (1) Normal Operation of the SCR, (2) Repaired leak from hotwell discharge to the AOD - replaced valve, (3) Replaced input module on the hydrolyzer, (4) Replaced
5	September	2007	\$18,489.67	drive on #58 acoustic horn and (5) Replaced control card on the South Booster Fan, work done by Auma Actuators, Inc (1) SCR not in Operation, (2) Late billing charges for the month of September 2007 for additional operation overtime during the ozone season, (3) Repairs to SCR NOx monitors, (4) Repairs to SCR #1 reactor damper and (5) Very little maintenance
6	October	2007	\$13,697.70	activities
				Billing Period from January 2008 through June 2008
7	November	2007	\$35,748 49	(1) SCR not in Operation, (2) Sent AOD cooler coils out for repairs, (3) Purchased three booster fan blades in order to make a complete set and (4) Very little maintenance activities.
8	December	2007	\$10,377.90	 SCR not in Operation, (2) Replaced drive on SCR acoustic horn, (3) State Electric Supply Co. Inc. field representative supervised repairs of the layup air fan that would not start and (4) Repairs to CEMS diluition probes and probe controllers. SCR not in Operation, (2) Replaced six drivers on acoustic horns, (3) Routine inspection and repairs to the North Booster Fan and (4) Repair to CEMS inlet and
9	January	2008	\$123,783.37	Outlet dilution probes (1) SCR not in Operation, (2) North American Industrial Services cleaned AOD tanks and coils, (3) Routine inspection and repairs to the North Booster Fan and (4) Repairs
10	February March	2008	\$21,364.89 \$54,151.70	to CEMS inlet dilution probes. (1) SCR not in Operation, (2) Annual Outage AOD safety valve inspection by Precision Pump and Valve Service, (3) Annual outage ammonia sensor calibration, (4) Annual outage routine inspection of the North & South Booster fans by service man with Howden Buffalo, Inc. and (5) Repairs to the SCR bypass dampers
12	April	2008	\$59,752.86	(1) SCR not in Operation, (2) Annual Outage AOD safety valve inspection by Precision Pump and Valve Service, (3) Annual outage ammonia sensor calibration (4) Inspection and repairs of the SCR outlet dampers and (5) Inspection and greasing of bearings, repack shafts, damper blade likage and stroking dampers.
				Billing Period from July 2008 through December 2008
13	May	2008	\$248,172.20	(1) Unit 2 Annual Outage prepairing for SCR year around operation, (2) Howden Buffalo, Inc. service man for the N&S booster fans, (3) Repairs to the inlet and outlet SCR reactor and (4) Repairs to the SCR Outlet duct work to air heater. (1) Unit 2 Annual Outage prepairing for SCR year around operation, (2) Howden Buffalo, Inc. service man for the N&S booster fans, (3) Repairs to the inlet and outlet
14	June	2008	\$287,942.49	SCR reactor and (4) Repairs to the SCR Outlet duct work to air heater (1) Normal Operations of the SCR (2) Repairs to the SCR Outlet duct work to air
15 16	July August	2008 2008	\$122,661.36 \$15,729.35	heater (charges carried over from June) Normal Operation very little maintenance activity
16 17 18	September October	2008 2008 2008	\$28,186 45 \$34,935.74	Normal Operation Norman Operation
19	Total		\$1,279,848.55	
			\$570,906.60 \$296,029.39 \$866,935.99	SCR Boiler Outlet Ductwork SCR North & South Booster Fans Total

KPSC Case No. 2009-00038 Commission Staff First Set of Data Requests Order Dated February 12, 2009 Item No. 4 Page 1 of 1

Kentucky Power Company

REQUEST

Billing Period from July 1, 2007 through December 31, 2007

Refer to ES Form 3.11, SO2 Emission Allowance Inventory, for the December 2007 expense month.

- a. Describe the type of transaction reported as "Withdrawals-Intercompany Sales"
- b. Explain how the sales price per allowance was determined for these sales.

RESPONSE

- a)"Withdrawals Intercompany Sales" represent transfers of 2,566 SO2 Emission allowances pursuant to Section 4.2 of the FERC Approved Interim Allowance Agreement Modification No. 1 (IAA). This section of the IAA mandates that each of the AEP East Operating Companies will own their MLR share of the December 31 allowance bank.
- b) These sales are based on KPCo's average allowance inventory cost of \$20.91. This is pursuant to Section 4.2 of the Interim Allowance Agreement.

.

KPSC Case No. 2009-00038 Commission Staff First Set of Data Requests Order Dated February 12, 2009 Item No. 5 Page 1 of 1

Kentucky Power Company

REQUEST

Refer to ES Form 3.12, ECR and NOX Emission Allowance Inventory, for July and October, 2007 expense months. Explain why Kentucky Power reported receiving "EPA Allowances" in these expense months.

RESPONSE

Kentucky Power Company uses an Allowance Management System (AMS) to manage its allowance inventory. July and October 2007 were the expense months in which these allowances were recorded in the AMS.

KPSC Case No. 2009-00038 Commission Staff First Set of Data Requests Order Dated February 12, 2009 Item No. 6 Page 1 of 2

Kentucky Power Company

REQUEST

Refer to ES Form 3.13, the Operation and Maintenance Expense Summary, Line 9, Equipment - Associated Operating Expenses. Explain the primary reason(s) for the fluctuations in the operating expenses for each expense month in this review period.

RESPONSE

The primary reason for the fluctuations in operating expenses in this review period is the SCR Operator Overtime required during the Ozone Season. Please see Page 2 of this response.

KPSC Case No. 2009-00038 Commission Staff 1st Set Data Requests Order Dated February 12, 2009 Item No. 6 Page 2 of 2

Line No.	Month	Year	Amount 1/
		g Period from ough Decemb	
1	May	2007	\$1,059.12
2	June	2007	\$11,780.91
3	July	2007	\$18,245.64
4	August	2007	\$17,787.54
5	September	2007	\$14,554.66
6	October	2007	\$7,329.39
7	Tota	ıl	\$70,757.26

1/ Amount of Operator Overtime required during the Ozone Season.

KPSC Case No. 2009-00038 Commission Staff First Set of Data Requests Order Dated February 12, 2009 Item No. 7 Page 1 of 1

Kentucky Power Company

REQUEST

Billing Period from January 1, 2008 through June 30, 2008

Refer to ES Form 3.12, ECR and NOX Emission Allowance Inventory, for May, 2008 expense months. Explain why Kentucky Power reported receiving "EPA Allowances" in this expense month.

RESPONSE

May 2008 was the monthly filing in which these 2009-2014 allowances were recorded in the Allowance Management System (AMS).

:

KPSC Case No. 2009-00038 Commission Staff First Set of Data Requests Order Dated February 12, 2009 Item No. 8 Page 1 of 1

Kentucky Power Company

REQUEST

Billing Period from July 1, 2008 through December 31, 2008

Refer to ES Form 3.11, SO2 Emission Allowance Inventory, for the November 2008 expense month.

- a. Describe the type of transaction reported as "Addition Other."
- b. Explain how the sales price per allowance was determined for this amount.

RESPONSE

- a. Kentucky Power Company entered into an agreement to swap (or exchange) 2,826 vintage Year 2008 SO2 allowances with an external counterparty for 2,859 vintage Year 2009 SO2 allowances.
- b. The value of the allowance issued plus broker fees paid became the basis of the allowances received.

.

KPSC Case No. 2009-00038 Commission Staff First Set of Data Requests Order Dated February 12, 2009 Item No. 9 Page 1 of 2

Kentucky Power Company

REQUEST

Refer to ES Form 3.13, the Operation and Maintenance Expense Summary, Line 9, Equipment - Associated Operating Expenses. Explain the primary reason(s) for the fluctuations in the operating expenses for each expense month in this review period.

RESPONSE

The primary reason for the fluctuations in operating expenses in this review period is the SCR Operator Overtime required during the Ozone Season. There was no SCR Operator Overtime during the months of May and June 2008 due to an Unit 2 outage. Please see Page 2 of this response.

KPSC Case No. 2009-00038 Commission Staff 1st Set Data Requests Order Dated February 12, 2009 Item No. 9 Page 2 of 2

Line No.	Month	Year	Amount 1/
		g Period from ough Decemb	per 2008
1 2 3 4 5 6	May June July August September October	2008 2008 2008 2008 2008 2008	\$0.00 \$0.00 \$7,372.23 \$12,393.41 \$3,274.32 \$5,251.86
7	Tota	al	\$28,291.82

^{1/} Amount of Operator Overtime required during the Ozone Season.

KPSC Case No. 2009-00038 Commission Staff First Set of Data Requests Order Dated February 12, 2009 Item No. 10 Page 1 of 1

Kentucky Power Company

REQUEST

Refer to ES Form 3.14, Page 5 of 11, the Current Period Revenue Requirement, Ohio Power Company - Gavin Plant (Units 1 & 2), Line 11. Explain the primary reasons(s) for the fluctuations in the lease expense for the December 2008 month compared to the prior months in this review period.

RESPONSE

The lease expense is recorded on an estimated basis for eleven months and adjusted to actual expense each December. The large increase in the December 2008 lease cost, reflects the adjustment between the recorded lease cost and the actual lease cost incurred by the Company. The reason for the increase in the actual lease cost for 2008 is because of the increase in 2008 interest expense on debt included in the lease cost. Following the first quarter in 2008 there was a disruption in the auction rate securities market which increased the interest rate associated with the lease cost.

KPSC Case No. 2009-00038 Commission Staff First Set of Data Requests Order Dated February 12, 2009 Item No. 11 Page 1 of 22

Kentucky Power Company

REQUEST

Provide the following information as of October 31, 2008:

- a. The outstanding balances for long-term debt, short-term debt, accounts receivable financing, and common equity.
- b. The blended interest rates for long-term debt, short-term debt, and accounts receivable financing. Include all supporting calculations showing how these blended interest rates were determined.
- c. Kentucky Power's calculation of its weighted average cost of capital for environmental surcharge purposes.
- d. Determine the weighted average cost of capital reflecting the application of the income tax gross-up factor. Include all calculations and assumptions used in the determination.

RESPONSE

- a. Please refer to Page 2 of 22 of the attached exhibit for the balances for long-term debt, short-term debt, accounts receivable financing and common equity as of October 31, 2008. Pages 3 thru 20 of 22 demonstrate the supporting calculations.
- b. Please refer to Page 2 of 22 of the attached exhibit for the blended interest rates for long-term debt, short-term debt, and accounts receivable financing as of October 31, 2008.
- c. Kentucky Power's October 31, 2008 calculated weighted average cost of capital for environmental surcharge purposes is 7.71%. Please refer to Page 2 of 22 of the attached exhibit for support of the calculation.
- d. Please see Page 21 of 22 for the weighted cost of capital reflecting the application of the income tax gross-up factor.

KPSC Case No. 2009-00038 Commission Staff 1st Set Data Requests Order Dated February 12, 2009 Item No. 11 Page 2 of 22

Kentucky Power Company Cost of Capital As of October 31, 2008

Ln <u>No</u> (1)	Description (2)	<u>Capital</u> (3)	Percent of <u>Total</u> (4)	Cost Percentage Rate (5)	Weighted Average Cost Percent (6)=(4)x(5)
1 Lor	ng Term Debt	450,000,000 a	46.274%	6.08%	2.81%
2 Short Term Debt		68,207,639 a,b	7.014%	3.52%	0.25%
3 Accounts Receivable Financing		39,995,375	4.113%	4.46%	0.18%
4 Common Equity		<u>414,267,048</u> a	<u>42.599%</u>	10.50%	<u>4.47%</u>
5 Tot	tal	972,470,063	100.00%		7.71%

a Book balance as of 10/31/2008

b Average borrowing costs for the 12 Months Ended October 31, 2008

KPSC Case No. 2009-00038 Commission Staff 1st Set Data Requests Order Dated February 12, 2009 Item No. 11 Page 3 of 22

KENTUCKY POWER COMPANY EFFECTIVE COST OF LONG-TERM DEBT AS OF OCTOBER 31, 2008

WEIGHTED COST RATE %			6.082
ANNUALIZED COST \$	1,049,816 1,049,816	1,967,969 4,317,337 20,033,514 26,318,820	27,368,636
CURRENT AMOUNT OUTSTANDING \$	20,000,000	30,000,000 75,000,000 325,000,000 430,000,000	450,000,000
	5.249	6.560 5.756 6.164	1)
NET PROCEEDS EFFECTIVE RATIO COST RATE % %	100.00	99.20 98.14 98.79	
NET PROCEEDS \$	20,000,000	29,760,983 73,607,175 321,054,867	
COMPANY ISSUANCE EXPENSE \$	ı	51,517 736,575 2,277,883	
PREMIUM OR COMPANY (DISCOUNT) ISSUANCE AT ISSUANCE EXPENSE \$		(187,500) (656,250) (1,667,250)	
PRINCIPAL AMOUNT ISSUED	20,000,000	30,000,000 75,000,000 325,000,000 430,000,000	450,000,000
AVERAGE TERM IN YEARS	1.3	9.99 29.45 10.01	1 1
DUE DATE	6/1/2015	11/10/2008 12/1/2032 9/15/2017	
ISSUE DATE	2/5/2004	11/10/1998 6/13/2003 9/11/2007	:M DEBT
SERIES	Global Note 5.25% Subtotal	Senior Notes 6.450% 5.625% 6.000% Sub(otal	Total TOTAL LONG-TERM DEBT

KPSC Case No. 2009-00038 Commission Staff 1st Set Data Requests Order Dated February 12, 2009 Item No. 11 Page 4 of 22

Kentucky Power Company Schedule of Short Term Debt Tweive Months Ended October 31, 2008

Line No. (1)	Month (2)	Year (3)	Notes Payable Outstanding at the End of the Month (4)
1	November	2007	0
2	December	2007	19,153,141
3	January	2008	10,753,782
4	February	2008	11,238,677
5	March	2008	40,305,351
6	April	2008	37,479,487
7	May	2008	41,666,308
8	June	2008	48,435,053
9	July	2008	47,609,710
10	August	2008	45,262,701
11	September	2008	65,092,480
12	October	2008	68,207,639

KPSC Case No. 2009-00038 Commission Staff 1st Set Data Requests Order Dated February 12, 2009 Item No. 11 Page 5 of 22

Date	Short Term Daily Borrowed Balance	Daily Short Term Interest Rate	Weighted Average Borrowed Interest Rate
Date	Bollowou Bululloo		7 (200
10/31/2007	0.00		
11/1/2007	0.00		
11/2/2007	0.00		
11/3/2007	0.00		
11/4/2007	0.00		
11/5/2007	0.00		
11/6/2007	0.00		
11/7/2007	0.00		
11/8/2007	0.00		
11/9/2007	0.00		
11/10/2007	0.00		
11/11/2007	0.00		
11/12/2007	0.00		
11/13/2007	0.00		
11/14/2007	0.00		
11/15/2007	0.00		
11/16/2007	0.00		
11/17/2007	0.00		
11/18/2007	0.00		
11/19/2007	0.00		
11/20/2007	0.00		
11/21/2007	0.00		
11/22/2007	0.00 0.00		
11/23/2007 11/24/2007	0.00		
11/25/2007	0.00		
11/26/2007	0.00		
11/27/2007	0.00		
11/28/2007	0.00		
11/29/2007	0.00		
11/30/2007	0.00		
12/1/2007	0.00		
12/2/2007	0.00		
12/3/2007	0.00		
12/4/2007	0.00		
12/5/2007	0.00		
12/6/2007	0.00		
12/7/2007	0.00		
12/8/2007	0.00		
12/9/2007	0.00		
12/10/2007	(28,502,246.91)	5.36%	0.011536%
12/11/2007	(27,347,939.00)	5.36%	
12/12/2007	(23,461,629.62)	5.36%	0.009496%
12/13/2007	(19,180,662.03)	5.36%	0.007763%
12/14/2007	(18,786,657.00)	5.36%	0.007604%
12/15/2007	(18,789,453.35)	5.36%	0.007605%
12/16/2007	(18,792,250.12)	5.36%	0.007606%

KPSC Case No. 2009-00038 Commission Staff 1st Set Data Requests Order Dated February 12, 2009 Item No. 11 Page 6 of 22

	Short Term	Daily	Weighted Average
	Daily	Short Term	Borrowed Interest
Date	Borrowed Balance	Interest Rate	Rate
12/17/2007	(23,551,364.55)	5.29%	0.009408%
12/18/2007	(21,425,228.30)	5.29%	0.008558%
12/19/2007	(21,011,087.03)	5.36%	0.008504%
12/20/2007	(17,526,210.46)	5.36%	0.007093%
12/21/2007	(14,802,018.12)	5.36%	0.005991%
12/22/2007	(14,804,221.37)	5.36%	0.005992%
12/23/2007	(14,806,424.95)	5.36%	0.005993%
12/24/2007	(15,354,031.41)	5.36%	0.006214%
12/25/2007	(15,356,316.82)	5.36%	0.006215%
12/26/2007	(14,122,889.36)	5.36%	0.005716%
12/27/2007	(18,181,356.17)	5.36%	0.007359%
12/28/2007	(18,662,175.64)	5.36%	0.007553%
12/29/2007	(18,664,953,46)	5.36%	0.007554%
12/30/2007	(18,667,731.70)	5.36%	0.007555%
12/31/2007	(19,153,140.66)	5.36%	0.007752%
1/1/2008	(19,153,140.66)	5.36%	0.007752%
1/2/2008	(18,577,344.58)	5.36%	0.007525%
1/3/2008	(18,236,115.62)	5.37%	0.007392%
1/4/2008	(22,998,867.10)	5.30%	0.009209%
1/5/2008	(23,002,254.01)	5.30%	0.009211%
1/6/2008	(23,005,641.42)	5.30%	0.009212%
1/7/2008	(29,201,820.82)	5.22%	0.011505%
1/8/2008	(32,979,912.40)	5.16%	0.012859%
1/9/2008	(32,030,444.29)	5.13%	0.012409%
1/10/2008	(25,322,835.95)	5.14%	0.009826%
1/11/2008	(24,548,444.17)	5.13%	0.009507%
1/12/2008	(24,551,940.48)	5.13%	0.009508%
1/13/2008	(24,555,437.28)	5.13%	0.009510%
1/14/2008	(24,476,991.90)	5.10%	0.009423%
1/15/2008	(18,955,669.32)	5.08%	0.007274%
1/16/2008	(17,351,032.04)	5.10%	0.006686%
1/17/2008	(20,494,787.06)	5.09%	0.007884%
1/18/2008	(20,177,396.18)	4.86%	0.007409%
1/19/2008	(20,180,121.06)	4.86%	0.007410%
1/20/2008	(20,182,846.31)	4.86%	0.007411%
1/21/2008	(20,185,571.93)	4.86%	0.007412%
1/22/2008	(14,583,885.09)	4.87%	0.005361%
1/23/2008	(14,811,532.67)	4.86%	0.005441%
1/24/2008	(13,593,543.98)	4.86%	0.004994%
1/25/2008	(13,709,207.31)	4.69%	0.004858%
1/26/2008	(13,710,994.06)	4.69%	0.004859%
1/27/2008	(13,712,781.05)	4.69%	0.004860%
1/28/2008	(13,738,185.95)	4.68%	0.004851%
1/29/2008	(12,470,969.71)	4.53%	0.004269%
1/30/2008	(12,798,710.74)	4.40%	0.004253%
1/31/2008	(10,753,782.44)	4.40%	0.003571%
2/1/2008	(9,609,794.55)	4.26%	0.003090%

KPSC Case No. 2009-00038 Commission Staff 1st Set Data Requests Order Dated February 12, 2009 Item No. 11 Page 7 of 22

	Short Term	Daily	Weighted Average
Date	Daily Borrowed Balance	Short Term Interest Rate	Borrowed Interest Rate
2/2/2008	(9,610,930.97)	4.26%	0.003090%
2/3/2008	(9,612,067.53)	4.26%	0.003090%
2/4/2008	(16,786,342.86)	4.17%	0.005283%
2/5/2008	(15,930,537.20)	4.17%	0.005263%
2/6/2008	(16,281,955.64)	4.17%	0.005093%
2/7/2008	(14,789,089.74)	4.17%	0.003693%
2/8/2008	(24,139,633.19)	4.10%	0.007471%
2/9/2008	(24,142,380.93)	4.10%	0.007471%
2/10/2008	(24,145,128.97)	4.10%	0.007472%
2/11/2008	(22,320,224.95)	4.01%	0.006759%
2/12/2008	(20,646,065.16)	4.00%	0.006233%
2/13/2008	(19,179,110.42)	3.91%	0.005664%
2/14/2008	(18,721,526.86)	3.89%	0.005498%
2/15/2008	(19,423,963.10)	3.77%	0.005525%
2/16/2008	(19,425,995.02)	3.77%	0.005526%
2/17/2008	(19,428,027.15)	3.77%	0.005526%
2/18/2008	(19,430,059.50)	3.77%	0.005527%
2/19/2008	(13,487,631.34)	3.74%	0.003809%
2/20/2008	(16,923,963.83)	3.74%	0.004779%
2/21/2008	(11,369,041.91)	3.75%	0.003220%
2/22/2008	(10,305,613.77)	3.75%	0.002921%
2/23/2008	(10,306,687.94)	3.75%	0.002921%
2/24/2008	(10,307,762.22)	3.75%	0.002921%
2/25/2008	(9,454,735.58)	3.74%	0.002674%
2/26/2008	(8,183,894.63)	3.74%	0.002314%
2/27/2008	(9,399,414.92)	3.71%	0.002634%
2/28/2008	(10,238,560.73)	3.72%	0.002878%
2/29/2008	(11,238,676.79)	3.71%	0.003151%
3/1/2008	(11,239,835.45)	3.71%	0.003151%
3/2/2008	(11,240,994.23)	3.71%	0.003151%
3/3/2008	(12,971,897.71)	3.60%	0.003527%
3/4/2008	(12,878,142.29)	3.59%	0.003489%
3/5/2008	(15,544,586.86)	3.58%	0.004201%
3/6/2008	(13,598,383.08)	3.55%	0.003651%
3/7/2008	(18,584,092,60)	3.54%	0.004975%
3/8/2008	(18,585,922.18)	3.54%	0.004975%
3/9/2008	(18,587,751.94)	3.54%	0.004976%
3/10/2008	(26,980,994.48)	3.53%	0.007203%
3/11/2008	(25,278,641.66)	3.53%	0.006748%
3/12/2008	(24,585,082.87)	3.53%	0.006551%
3/13/2008	(24,658,501.32)	3.52%	0.006562%
3/14/2008	(25,581,474.36)	3.51%	0.006780%
3/15/2008	(25,583,967.66)	3.51%	0.006780%
3/16/2008	(25,586,461.21)	3.51%	0.006781%
3/17/2008	(31,536,734.39)	3.52%	0.008379%
3/18/2008	(28,548,973.36)	3.46%	0.007462%
3/19/2008	(28,646,111.64)	3.43%	0.007422%

KPSC Case No. 2009-00038 Commission Staff 1st Set Data Requests Order Dated February 12, 2009 Item No. 11 Page 8 of 22

Date	Short Term Daily Borrowed Balance	Daily Short Term Interest Rate	Weighted Average Borrowed Interest Rate
3/20/2008	(39,328,917.36)	3.46%	0.010272%
3/21/2008	(40,587,335.71)	3.46%	0.010601%
3/22/2008	(40,591,234.33)	3.46%	0.010602%
3/23/2008	(40,595,133.32)	3.46%	0.010603%
3/24/2008	(34,579,959.97)	3.39%	0.008847%
3/25/2008	(34,132,225.15)	3.45%	0.008904%
3/26/2008	(33,482,500.43)	3.49%	0.008822%
3/27/2008	(35,547,371.00)	3.50%	0.009398%
3/28/2008	(35,875,686.38)	3.45%	0.009343%
3/29/2008	(35,879,122.23)	3.45%	0.009343%
3/30/2008	(35,882,558.43)	3.45%	0.009344%
3/31/2008	(40,305,350.82)	3.44%	0.010466%
4/1/2008	(40,655,131,29)	3.41%	0.010484%
4/2/2008	(40,883,720.35)	3.39%	0.010480%
4/3/2008	(35,439,413.23)	3.36%	0.008994%
4/4/2008	(35,651,043.88)	3.36%	0.009047%
4/5/2008	(35,654,371.21)	3.36%	0.009048%
4/6/2008	(35,657,698.86)	3.36%	0.009049%
4/7/2008	(46,485,374.16)	3.34%	0.011714%
4/8/2008	(45,147,895.62)	3.31%	0.011278%
4/9/2008	(43,846,321.82)	3.28%	0.010871%
4/10/2008	(43,745,254.10)	3.24%	0.010702%
4/11/2008	(43,574,738.79)	3.18%	0.010482%
4/12/2008	(43,578,593.58)	3.18%	0.010483%
4/13/2008	(43,582,448.71)	3.18%	0.010483%
4/14/2008	(41,786,904.42)	3.19%	0.010056%
4/15/2008 4/16/2008	(37,865,593.90) (36,399,971.54)	3.18% 3.18%	0.009092% 0.008744%
4/17/2008	(42,005,833.34)	3.16%	0.010041%
4/18/2008	(40,623,386.84)	3.14%	0.010041%
4/19/2008	(40,626,929.14)	3.14%	0.009632%
4/20/2008	(40,630,471.75)	3.14%	0.009634%
4/21/2008	(34,417,139.55)	3.15%	0.008184%
4/22/2008	(31,523,037.53)	3.15%	0.007497%
4/23/2008	(31,481,173.80)	3.16%	0.007526%
4/24/2008	(34,988,397.76)	3.16%	0.008364%
4/25/2008	(36,858,065.16)	3.16%	0.008807%
4/26/2008	(36,861,304.19)	3.16%	0.008808%
4/27/2008	(36,864,543.50)	3.16%	0.008809%
4/28/2008	(36,785,178.35)	3.16%	0.008790%
4/29/2008	(36,991,596.67)	3.16%	0.008826%
4/30/2008	(37,479,486.86)	3.15%	0.008910%
5/1/2008	(37,719,817.39)	3.11%	0.008873%
5/2/2008	(37,501,613.37)	3.11%	0.008822%
5/3/2008	(37,504,857.72)	3.11%	0.008823%
5/4/2008	(37,508,102.34)	3.11%	0.008823%
5/5/2008	(42,777,228.99)	3.06%	0.009876%

KPSC Case No. 2009-00038 Commission Staff 1st Set Data Requests Order Dated February 12, 2009 Item No. 11 Page 9 of 22

	Short Term Daily	Daily Short Term	Weighted Average Borrowed Interest
Date	Borrowed Balance	Interest Rate	Rate
5/6/2008	(42,754,181.13)	3.05%	0.009849%
5/7/2008	(42,318,103.37)	3.05%	0.009749%
5/8/2008	(45,899,900.39)	3.05%	0.010573%
5/9/2008	(46,771,044.63)	3.02%	0.010671%
5/10/2008	(46,774,969.06)	3.02%	0.010672%
5/11/2008	(46,778,893.82)	3.02%	0.010673%
5/12/2008	(47,306,161.30)	3.00%	0.010737%
5/13/2008	(42,101,387.42)	3.01%	0.009562%
5/14/2008	(41,172,841.50)	3.01%	0.009347%
5/15/2008	(43,572,657.53)	2.94%	0.009690%
5/16/2008	(43,073,628.76)	2.99%	0.009731%
5/17/2008	(43,077,207.39)	2.99%	0.009732%
5/18/2008	(43,080,786.32)	2.99%	0.009732%
5/19/2008	(41,964,200.50)	2.97%	0.009398%
5/20/2008	(41,891,222.59)	2.93%	0.009270%
5/21/2008	(35,564,983.96)	2.95%	0.007913%
5/22/2008	(37,409,428.55)	2.92%	0.008262%
5/23/2008	(39,208,723.43)	2.91%	0.008629%
5/24/2008	(39,211,896.98)	2.91%	0.008630%
5/25/2008	(39,215,070.79)	2.91%	0.008631%
5/26/2008	(39,218,244.86)	2.91%	0.008631%
5/27/2008	(38,640,391.70)	2.91%	0.008479%
5/28/2008	(37,974,014.67)	2.92%	0.008364%
5/29/2008	(41,233,291.58)	2.92%	0.009082%
5/30/2008	(41,666,308.18)	2.91%	0.009173%
5/31/2008	(41,669,681.77)	2.91%	0.009174% 0.009175%
6/1/2008	(41,673,055.63)	2.91% 2.92%	0.009175%
6/2/2008	(44,664,363.63)	2.92%	0.009865%
6/3/2008 6/4/2008	(42,763,889.99) (48,949,194.19)	2.91%	0.009419%
6/5/2008	(42,190,402.98)	2.91%	0.010733%
6/6/2008	(42,190,402.98)	2.91%	0.009590%
6/7/2008	(43,608,593.15)	2.91%	0.009590%
6/8/2008	(43,612,120.17)	2.91%	0.009591%
6/9/2008	(51,301,355.92)	2.91%	0.011285%
6/10/2008	(49,893,742.93)	2.91%	0.010977%
6/11/2008	(49,415,527.34)	2.91%	0.010869%
6/12/2008	(48,072,025.47)	2.91%	0.010559%
6/13/2008	(47,210,143.09)	2.91%	0.010382%
6/14/2008	(47,213,961.15)	2.91%	0.010383%
6/15/2008	(47,217,779.52)	2.91%	0.010383%
6/16/2008	(46,102,082.80)	2.91%	0.010150%
6/17/2008	(40,004,029.73)	2.92%	0.008808%
6/18/2008	(39,209,020.93)	2.92%	0.008637%
6/19/2008	(44,065,960.22)	2.91%	0.009678%
6/20/2008	(45,085,996.67)	2.92%	0.009941%
6/21/2008	(45,089,652.49)	2.92%	0.009941%
	•		

KPSC Case No. 2009-00038 Commission Staff 1st Set Data Requests Order Dated February 12, 2009 Item No. 11 Page 10 of 22

Date	Short Term Daily Borrowed Balance	Daily Short Term Interest Rate	Weighted Average Borrowed Interest Rate
6/22/2008	(45,093,308.61)	2.92%	0.009942%
6/23/2008	(51,170,579.22)	2.92%	0.011294%
6/24/2008	(50,887,384.15)	2.92%	0.011232%
6/25/2008	(51,070,930.79)	2.94%	0.011329%
6/26/2008	(50,507,537.17)	2.95%	0.011268%
6/27/2008	(51,495,312.15)	2.96%	0.011500%
6/28/2008	(51,499,541.61)	2.96%	0.011501%
6/29/2008	(51,503,771.42)	2.96%	0.011502%
6/30/2008	(48,435,053.41)	2.96%	0.010817%
7/1/2008	(48,046,475.00)	2.96%	0.010730%
7/2/2008	(48,375,583.32)	2.95%	0.010788%
7/3/2008	(51,134,199.50)	2.94%	0.011340%
7/4/2008	(51,138,370.14)	2.94%	0.011341%
7/5/2008	(51,142,541.12)	2.94%	0.011342%
7/6/2008	(51,146,712.44)	2.94%	0.011343%
7/7/2008	(56,228,584.95)	2.93%	0.012457%
7/8/2008	(61,740,352.53)	2.93%	0.013685%
7/9/2008	(61,538,357.79)	2.93%	0.013598%
7/10/2008	(56,646,077.32)	2.91%	0.012462%
7/11/2008	(56,162,752.12)	2.93%	0.012424%
7/12/2008	(56,167,321.17)	2.93%	0.012425%
7/13/2008	(56,171,890.60)	2.93%	0.012426%
7/14/2008	(59,215,401.94)	2.92%	0.013078%
7/15/2008	(60,193,969.67)	2.91%	0.013223%
7/16/2008	(59,868,837.79)	2.92%	0.013214%
7/17/2008	(61,048,536.80)	2.93%	0.013508%
7/18/2008	(61,524,948.63)	2.91%	0.013528%
7/19/2008	(61,529,923.65)	2.91%	0.013529%
7/20/2008	(61,534,899.07)	2.91%	0.013530%
7/21/2008	(43,214,936.71)	2.93%	0.009561%
7/22/2008	(42,521,373.06)	2.93%	0.009407% 0.009155%
7/23/2008 7/24/2008	(41,381,026.41)	2.93% 2.93%	0.010268%
7/24/2008	(46,452,134.23) (46,693,921.52)	2.92%	0.010283%
7/26/2008	(46,697,703.14)	2.92%	0.010283%
7/27/2008	(46,701,485.07)	2.92%	0.010284%
7/28/2008	(46,520,851.57)	2.92%	0.010260%
7/29/2008	(45,121,612.01)	2.93%	0.009985%
7/30/2008	(45,377,681.46)	2.93%	0.010057%
7/31/2008	(47,609,710.32)	2.95%	0.010625%
8/1/2008	(51,108,732.31)	2.96%	0.011424%
8/2/2008	(51,112,933.76)	2.96%	0.011425%
8/3/2008	(51,117,135.55)	2.96%	0.011426%
8/4/2008	(54,000,164.06)	2.96%	0.012082%
8/5/2008	(52,300,180.88)	2.96%	0.011709%
8/6/2008	(52,190,813.44)	2.95%	0.011647%
8/7/2008	(47,623,115.28)	2.97%	0.010675%

KPSC Case No. 2009-00038
Commission Staff 1st Set Data Requests
Order Dated February 12, 2009
Item No. 11
Page 11 of 22

Date	Short Term Daily Borrowed Balance	Daily Short Term Interest Rate	Weighted Average Borrowed Interest Rate
8/8/2008	(54,367,864.04)	2.97%	0.012214%
8/9/2008	(54,372,355.99)	2.97%	0.012215%
8/10/2008	(54,376,848.31)	2.97%	0.012216%
8/11/2008	(51,867,319.22)	2.98%	0.011667%
8/12/2008	(49,819,431.54)	2.98%	0.011208%
8/13/2008	(49,964,501.88)	2.98%	0.011244%
8/14/2008	(50,755,162.34)	2.98%	0.011407%
8/15/2008	(52,359,746.62)	2.97%	0.011728%
8/16/2008	(52,364,059.95)	2.97%	0.011729%
8/17/2008	(52,368,373.63)	2.97%	0.011730%
8/18/2008	(50,458,684.74)	2.97%	0.011302%
8/19/2008	(42,757,547.80)	2.96%	0.009551%
8/20/2008	(45,175,513.54)	2.97%	0.010123%
8/21/2008	(38,607,548.61)	2.97%	0.008652%
8/22/2008	(38,260,759.12)	2.97%	0.008591%
8/23/2008	(38,263,918.47)	2.97%	0.008591%
8/24/2008	(38,267,078.07)	2.97%	0.008592%
8/25/2008	(38,386,429.48)	2.98%	0.008629%
8/26/2008	(37,304,231.26)	2.98%	0.008384%
8/27/2008	(39,994,595.76)	2.97%	0.008982%
8/28/2008	(39,746,717.44)	2.98%	0.008945%
8/29/2008	(45,262,700.90)	2.97%	0.010170%
8/30/2008	(45,266,441.07)	2.97%	0.010171%
8/31/2008	(45,270,181.54)	2.97%	0.010172%
9/1/2008	(45,273,922.32)	2.97%	0.010172%
9/2/2008	(48,159,397.58)	2.97%	0.010821%
9/3/2008	(50,666,959.33)	2.97%	0.011369%
9/4/2008	(53,982,261.99)	2.96%	0.012075%
9/5/2008	(54,871,402.19)	2.96%	0.012262%
9/6/2008	(54,875,911.77)	2.96%	0.012263%
9/7/2008	(54,880,421.72)	2.96%	0.012264%
9/8/2008	(54,200,771.09)	2.95%	0.012075%
9/9/2008	(60,637,522,94)	2.96%	0.013573%
9/10/2008	(59,938,919.30)	2.96%	0.013391%
9/11/2008	(56,228,446.04)	2.96%	0.012560%
9/12/2008	(60,713,030.03)	2.95%	0.013517%
9/13/2008	(60,718,001.23)	2.95%	0.013518%
9/14/2008	(60,722,972.83)	2.95%	0.013520%
9/15/2008	(69,225,635.42)	2.96%	0.015468%
9/16/2008	(70,213,252.77)	3.25%	0.017248%
9/17/2008	(69,736,789.91)	3.30%	0.017392%
9/18/2008	(69,260,680.14)	3.34%	0.017448%
9/19/2008	(65,817,418.05)	3.37%	0.016771%
9/20/2008	(65,823,585.89)	3.37%	0.016773%
9/21/2008	(65,829,754.32)	3.37%	0.016774%
9/22/2008	(56,588,985.98)	3.36%	0.014359%
9/23/2008	(54,140,492.85)	3.37%	0.013762%

KPSC Case No. 2009-00038 Commission Staff 1st Set Data Requests Order Dated February 12, 2009 Item No. 11 Page 12 of 22

	Short Term	Daily	Weighted Average
Date	Daily Borrowed Balance	Short Term Interest Rate	Borrowed Interest Rate
Date	Dollowed Dalalice	micrest Nate	Nate
9/24/2008	(55,340,667.11)	3.36%	0.014059%
9/25/2008	(65,171,618.07)	3.65%	0.017984%
9/26/2008	(67,415,608.14)	3.74%	0.019036%
9/27/2008	(67,422,608.92)	3.74%	0.019038%
9/28/2008	(67,429,610.43)	3.74%	0.019040%
9/29/2008	(67,779,312.14)	3.92%	0.020054%
9/30/2008	(65,092,479.91)	4.00%	0.019688%
10/1/2008	(65,209,854.04)	4.22%	0.020783%
10/2/2008	(69,152,914.58)	4.40%	0.023000%
10/3/2008	(68,560,488.19)	4.45%	0.023047%
10/4/2008	(68,568,963.93)	4.45%	0.023049%
10/5/2008	(68,577,440.72)	4.45%	0.023052%
10/6/2008	(72,237,212.79)	4.44%	0.024209%
10/7/2008	(79,996,494.92)	4.40%	0.026584%
10/8/2008	(78,922,781.11)	4.39%	0.026185%
10/9/2008	(73,478,401.35)	4.35%	0.024135%
10/10/2008	(73,921,858.01)	4.41%	0.024607%
10/11/2008	(73,930,907.57)	4.41%	0.024610%
10/12/2008	(73,939,958.25)	4.41%	0.024613%
10/13/2008	(71,898,931.96)	4.41%	0.023933%
10/14/2008	(74,495,742.11)	4.35%	0.024479%
10/15/2008	(72,978,762.80)	4.28%	0.023574%
10/16/2008	(69,882,102.54)	4.20%	0.022172%
10/17/2008	(68,783,656.76)	4.20%	0.021824%
10/18/2008	(68,791,682.78)	4.20%	0.021826%
10/19/2008	(68,799,709.74)	4.20%	0.021829%
10/20/2008	(73,314,085.86)	4.85%	0.026841%
10/21/2008	(63,495,641.16)	4.62%	0.022156%
10/22/2008	(63,734,199.31)	5.19%	0.024978%
10/23/2008	(61,211,323,44)	5.19%	0.023990%
10/24/2008	(62,013,730.09)	4.97%	0.023291%
10/25/2008	(62,022,295.81)	4.97%	0.023294%
10/26/2008	(62,030,862.70)	4.97%	0.023298%
10/27/2008	(61,518,133.71)	4.97%	0.023105%
10/28/2008	(64,473,773.85)	4.57%	0.022265%
10/29/2008	(69,942,304.71)	5.47%	0.028898%
10/30/2008	(73,268,155.98)	4.53%	0.025069%
10/31/2008	(68,207,638.77)	4.06%	0.020910%
Total Dollar Days	(\$13,239,567,909.87)		
Average	(\$36,075,116.92)		3.5156%

Date	A/R Balance	Daily Carrying Cost Charge	Carrying Cost Charge
10/01/2007	34,438,767.00	0.000175	6,026.78
10/02/2007	37,881,374.39	0.000175	6,629.24
10/03/2007	37,839,725.38	0.000173	6,546.27
10/04/2007	37,815,443.65	0.000173	6,542.07
10/05/2007	37,556,561.83	0.000173	6,497.29
10/06/2007	37,556,561.83	0.000173	6,497.29
10/07/2007	37,556,561.83	0.000173	6,497.29
10/08/2007	37,104,776.88	0.000173	6,419.13
10/09/2007	37,719,465.26	0.000173	6,525.47
10/10/2007	35,484,198.98	0.000173	6,138.77
10/11/2007	35,547,174.42	0.000173	6,149.66
10/12/2007	36,356,846.96	0.000173	6,289.73
10/13/2007	36,356,846.96	0.000173	6,289.73
10/14/2007	36,356,846.96	0.000173	6,289.73
10/15/2007	35,978,658.49	0.000173	6,224.31
10/16/2007	32,478,083.04	0.000173	5,618.71
10/17/2007	32,062,680.75	0.000171	5,482.72
10/18/2007	31,833,440.03	0.000171	5,443.52
10/19/2007	30,932,005.42	0.000171	5,289.37
10/20/2007	30,932,005.42	0.000171	5,289.37
10/21/2007	30,932,005.42	0.000171	5,289.37
10/22/2007	31,050,293.68	0.000171	5,309.60
10/23/2007	30,723,100.02	0.000171	5,253.65
10/24/2007	31,038,974.35	0.000171	5,307.66
10/25/2007	31,496,040.36	0.000171	5,385.82
10/26/2007	32,726,369.88	0.000169	5,530.76
10/27/2007	32,726,369.88	0.000169	5,530.76
10/28/2007	32,726,369.88	0.000169	5,530.76
10/29/2007	34,179,170.58	0.000169	5,776.28
10/30/2007	34,175,579.13	0.000169	5,775.67
10/31/2007	34,682,822.76	0.000167	5,792.03
11/01/2007	34,459,230.22	0.000167	5,754.69
11/02/2007	35,020,939.52	0.000167	5,848.50
11/03/2007	35,020,939.52	0.000167	5,848.50
11/04/2007	35,020,939.52	0.000167	5,848.50
11/05/2007	35,595,577.62	0.000167	5,944.46
11/06/2007	38,175,144.35	0.000167	6,375.25
11/07/2007	38,140,259.61	0.000167	6,369.42
11/08/2007	37,413,680.39	0.000164	6,135.84
11/09/2007	37,590,885.38	0.000164	6,164.91
11/10/2007	37,590,885.38	0.000164	6,164.91
11/11/2007	37,590,885.38	0.000164	6,164.91
11/12/2007	36,999,898.75	0.000164	6,067.98
11/13/2007	37,190,655.69	0.000164	6,099.27
11/14/2007	36,737,774.09	0.000164	6,024.99
11/15/2007	36,625,106.87	0.000162	5,933.27
11/16/2007	37,029,000.54	0.000162	5,998.70
11/17/2007	37,029,000.54	0.000162	5,998.70
11/18/2007	37,029,000.54	0.000162	5,998.70
11/19/2007	36,955,557.85	0.000162	5,986.80
11/20/2007	33,620,982.82	0.000162	5,446.60

Date	A/R Balance	Daily Carrying Cost Charge	Carrying Cost Charge
11/21/2007	33,711,223.49	0.000162	5,461.22
11/22/2007	33,711,223.49	0.000162	5,461.22
11/23/2007	33,711,223.49	0.000162	5,461.22
11/24/2007	33,711,223.49	0.000162	5,461.22
11/25/2007	33,711,223.49	0.000162	5,461.22
11/26/2007	33,326,988.93	0.000162	5,398.97
11/27/2007	33,503,461.31	0.000162	5,427.56
11/28/2007	35,090,505.07	0.00016	5,614.48
11/29/2007	36,346,794.04	0.00016	5,815.49
11/30/2007	37,119,524.03	0.00016	5,939.12
12/01/2007	37,119,524.03	0.00016	5,939.12
12/02/2007	37,119,524.03	0.00016	5,939.12
12/03/2007	37,686,515.07	0.00016	6,029.84
12/04/2007	38,727,798.60	0.00016	6,196.45
12/05/2007	39,248,982.73	0.000161	6,319.09
12/06/2007	42,359,055.60	0.000161	6,819.81
12/07/2007	42,773,837.15	0.000161	6,886.59
12/08/2007	42,773,837.15	0.000161	6,886.59
12/09/2007	42,773,837.15	0.000161	6,886.59
12/10/2007	43,541,276.57	0.000161	7,010.15
12/11/2007	42,990,423.33	0.000161	6,921.46
12/12/2007	42,810,297.06	0.000162	6,935.27
12/13/2007	43,443,755.89	0.000162	7,037.89
12/14/2007	42,968,777.41	0.000162	6,960.94
12/15/2007	42,968,777.41	0.000162	6,960.94
12/16/2007	42,968,777.41	0.000162	6,960.94
12/17/2007	42,588,910.74	0.000162	6,899.40
12/18/2007	42,230,510.98	0.000162	6,841.34
12/19/2007	42,562,137.83	0.000164	6,980.19
12/20/2007	38,704,467.82	0.000164	6,347.53
12/21/2007	38,045,393.08	0.000164	6,239.44
12/22/2007	38,045,393.08	0.000164	6,239.44
12/23/2007	38,045,393.08	0.000164	6,239.44
12/24/2007	38,045,393.08	0.000164	6,239.44
12/25/2007	38,045,393.08	0.000164	6,239.44
12/26/2007	37,956,279.97	0.000164	6,224.83
12/27/2007	38,082,003.60	0.000165	6,283.53
12/28/2007	38,356,346.75	0.000165	6,328.80
12/29/2007	38,356,346.75	0.000165	6,328.80
12/30/2007	38,356,346.75	0.000165	6,328.80
12/31/2007	40,795,171.95	0.000165	6,731.20
01/01/2008	40,795,171.95	0.000165	6,731.20
01/02/2008	40,258,535.20	0.000165	6,642.66
01/03/2008	40,398,389.88	0.000167	6,746.53
01/04/2008	44,222,168.31	0.000167	7,385.10
01/05/2008	44,222,168.31	0.000167	7,385.10
01/06/2008	44,222,168.31	0.000167	7,385.10
01/07/2008	45,071,466.97	0.000167	7,526.93
01/08/2008	44,640,338.22	0.000167	7,454.94
01/09/2008	44,925,124.09	0.000166	7,457.57
01/10/2008	44,393,691.73	0.000166	7,369.35

Date	A/R Balance	Daily Carrying Cost Charge	Carrying Cost Charge
01/11/2008	45,476,342.92	0.000166	7,549.07
01/12/2008	45,476,342.92	0.000166	7,549.07
01/13/2008	45,476,342.92	0.000166	7,549.07
01/14/2008	44,985,052.42	0.000166	7,467.52
01/15/2008	41,276,513.06	0.000166	6,851.90
01/16/2008	40,726,676.88	0.000163	6,638.45
01/17/2008	41,356,139.11	0.000163	6,741.05
01/18/2008	41,374,817.22	0.000163	6,744.10
01/19/2008	41,374,817.22	0.000163	6,744.10
01/20/2008	41,374,817.22	0.000163	6,744.10
01/21/2008	41,224,519.42	0.000163	6,719.60
01/22/2008	41,817,831.28	0.000163	6,816.31
01/23/2008	41,533,523.91	0.000157	6,520.76
01/24/2008	40,782,858.24	0.000157	6,402.91
01/25/2008	40,671,784.36	0.000157	6,385.47
01/26/2008	40,671,784.36	0.000157	6,385.47
01/27/2008	40,671,784.36	0.000157	6,385.47
01/28/2008	41,461,416.00	0.000157	6,509.44
01/29/2008	42,122,358.84	0.000157	6,613.21
01/30/2008	44,307,194.69	0.000149	6,601.77
01/31/2008	45,600,976.43	0.000149	6,794.55
02/01/2008	45,875,318.07	0.000149	6,835.42
02/02/2008	45,875,318.07	0.000149	6,835.42
02/03/2008	45,875,318.07	0.000149	6,835.42
02/04/2008	50,204,979.30	0.000149	7,480.54
02/05/2008	50,631,593.35	0.000149	7,544.11
02/06/2008	49,681,615.91	0.000143	7,104.47
02/07/2008	49,044,295.91	0.000143	7,013.33
02/08/2008	49,738,387.78	0.000143	7,112.59
02/09/2008	49,738,387.78	0.000143	7,112.59
02/10/2008	49,738,387.78	0.000143	7,112.59
02/11/2008	49,895,342.21	0.000143	7,135.03
02/12/2008	49,489,844.01	0.000143	7,077.05
02/13/2008	49,157,901.06	0.000136	6,685.47
02/14/2008	49,958,373.63	0.000136	6,794.34
02/15/2008	49,442,065.77	0.000136	6,724.12
02/16/2008	49,442,065.77	0.000136	6,724.12
02/17/2008	49,442,065.77	0.000136	6,724.12
02/18/2008	45,680,152.04	0.000136	6,212.50
02/19/2008	45,311,461.24	0.000136	6,162.36
02/20/2008	45,055,770.11	0.000129	5,812.19
02/21/2008	43,454,245.51	0.000129	5,605.60
02/22/2008	43,203,773.28	0.000129	5,573.29
02/23/2008	43,203,773.28	0.000129	5,573.29
02/24/2008	43,203,773.28	0.000129	5,573.29
02/25/2008	42,551,590.68	0.000129	5,489.16 5,514.25
02/26/2008	42,746,928.48	0.000129	5,514.35
02/27/2008	43,302,675.10	0.000122	5,282.93
02/28/2008	43,661,325.45	0.000122	5,326.68
02/29/2008	45,585,981.74	0.000122	5,561.49
03/01/2008	45,585,981.74	0.000122	5,561.49

Date	A/R Balance	Daily Carrying Cost Charge	Carrying Cost Charge
03/02/2008	45,585,981.74	0.000122	5,561.49
03/03/2008	45,061,205.13	0.000122	5,497.47
03/04/2008	48,459,265.78	0.000122	5,912.03
03/05/2008	49,729,164.57	0.000119	5,917.77
03/06/2008	49,006,962.43	0.000119	5,831.83
03/07/2008	49,334,463.68	0.000119	5,870.80
03/08/2008	49,334,463.68	0.000119	5,870.80
03/09/2008	49,334,463.68	0.000119	5,870.80
03/10/2008	48,534,476.85	0.000119	5,775.60
03/11/2008	48,489,785.98	0.000119	5,770.28
03/12/2008	47,773,199.95	0.000116	5,541.69
03/13/2008	47,395,658.64	0.000116	5,497.90
03/14/2008	47,931,408.36	0.000116	5,560.04
03/15/2008	47,931,408.36	0.000116	5,560.04
03/16/2008	47,931,408.36	0.000116	5,560.04
03/17/2008	43,867,326.65	0.000116	5,088.61
03/18/2008	42,325,259.30	0.000116	4,909.73
03/19/2008	42,286,552.74	0.000113	4,778.38
03/20/2008	41,080,365.31	0.000113	4,642.08
03/21/2008	41,080,365.31	0.000113	4,642.08
03/22/2008	41,080,365.31	0.000113	4,642.08
03/23/2008	41,080,365.31	0.000113	4,642.08
03/24/2008	40,338,453.86	0.000113	4,558.25
03/25/2008	38,965,866.82	0.000113	4,403.14
03/26/2008	39,087,248.40	0.00011	4,299.60
03/27/2008	38,628,011.62	0.00011	4,249.08
03/28/2008	38,420,110.81	0.00011	4,226.21
03/29/2008	38,420,110.81	0.00011	4,226.21
03/30/2008	38,420,110.81	0.00011	4,226.21
03/31/2008	38,167,800.36	0.00011	4,198.46
04/01/2008	39,725,661.13	0.00011	4,369.82
04/02/2008	45,602,085.27	0.000107	4,879.42
04/03/2008	45,972,545.97	0.000107	4,919.06
04/04/2008	46,393,940.03	0.000107	4,964.15
04/05/2008	46,393,940.03	0.000107	4,964.15
04/06/2008	46,393,940.03	0.000107	4,964.15
04/07/2008	45,833,983.32	0.000107	4,904.24
04/08/2008	45,085,383.44	0.000107	4,824.14
04/09/2008	44,485,351.23	0.000106	4,715.45
04/10/2008	44,923,076.87	0.000106	4,761.85
04/11/2008	44,184,714.13	0.000106	4,683.58
04/12/2008	44,184,714.13	0.000106	4,683.58
04/13/2008	44,184,714.13	0.000106	4,683.58
04/14/2008	42,881,697.15	0.000106	4,545.46
04/15/2008	38,873,710.43	0.000106	4,120.61
04/16/2008	38,465,751.19	0.000104	4,000.44
04/17/2008	37,944,154.97	0.000104	3,946.19
04/18/2008	37,726,020.75	0.000104	3,923.51
04/19/2008	37,726,020.75	0.000104	3,923.51
04/20/2008	37,726,020.75	0.000104	3,923.51
04/21/2008	36,613,658.34	0.000104	3,807.82

Date	A/R Balance	Daily Carrying Cost Charge	Carrying Cost Charge
04/22/2008	34,897,271.93	0.000104	3,629.32
04/23/2008	34,437,265.87	0.000102	3,512.60
04/24/2008	33,991,756.30	0.000102	3,467.16
04/25/2008	33,781,855.08	0.000102	3,445.75
04/26/2008	33,781,855.08	0.000102	3,445.75
04/27/2008	33,781,855.08	0.000102	3,445.75
04/28/2008	34,530,892.16	0.000102	3,522.15
04/29/2008	35,696,979.27	0.000102	3,641.09
04/30/2008	37,190,048.60	0.000101	3,756.19
05/01/2008	36,825,216.96	0.000101	3,719.35
05/02/2008	41,192,223.29	0.000101	4,160.41
05/03/2008	41,192,223.29	0.000101	4,160.41
05/04/2008	41,192,223.29	0.000101	4,160.41
05/05/2008	41,396,996.63	0.000101	4,181.10
05/06/2008	40,090,202.28	0.000101	4,049.11
05/07/2008	39,781,474.98	0.000101	4,017.93
05/08/2008	39,032,222.52	0.000101	3,942.25
05/09/2008	39,739,465.97	0.000101	4,013.69
05/10/2008	39,739,465.97	0.000101	4,013.69
05/11/2008	39,739,465.97	0.000101	4,013.69
05/12/2008	38,973,906.62	0.000101	3,936.36
05/13/2008	34,991,269.52	0.000101	3,534.12
05/14/2008	35,164,543.02	0.000099	3,481.29
05/15/2008	34,736,163.64	0.000099	3,438.88
05/16/2008	34,615,483.21	0.000099	3,426.93
05/17/2008	34,615,483.21	0.000099	3,426.93
05/18/2008	34,615,483.21	0.000099	3,426.93
05/19/2008	34,313,622.41	0.000099	3,397.05
05/20/2008	33,252,325.04	0.000099	3,291.98
05/21/2008	32,406,485.39	0.000097	3,143,43
05/22/2008	31,888,543.56	0.000097	3,093.19
05/23/2008	31,810,946.91	0.000097	3,085.66
05/24/2008	31,810,946.91	0.000097	3,085.66
05/25/2008	31,810,946.91	0.000097	3,085.66
05/26/2008	31,810,946.91	0.000097	3,085.66
05/27/2008	31,630,000.90	0.000097	3,068.11
05/28/2008	32,425,360.01	0.000096	3,112.83
05/29/2008	32,311,647.01	0.000096	3,101.92
05/30/2008	34,043,193.07	0.000096	3,268.15
05/31/2008	34,043,193.07	0.000096	3,268.15
06/01/2008	34,043,193.07	0.000096	3,268.15
06/02/2008	35,314,324.69	0.000096	3,390.18
06/03/2008	38,969,958.44	0.000096	3,741.12
06/04/2008	39,995,013.08	0.000095	3,799.53
06/05/2008	39,772,870.86	0.000095	3,778.42
06/06/2008	40,351,397.40	0.000095	3,833.38
06/07/2008	40,351,397.40	0.000095	3,833.38
06/08/2008	40,351,397.40	0.000095	3,833.38
06/09/2008	39,858,785.10	0.000095	3,786.58
06/10/2008	40,816,452.00	0.000095	3,877.56
06/11/2008	40,851,337.45	0.000094	3,840.03

Date	A/R Balance	Daily Carrying Cost Charge	Carrying Cost Charge
06/12/2008	40,885,384.29	0.000094	3,843.23
06/13/2008	40,804,358.72	0.000094	3,835.61
06/14/2008	40,804,358.72	0.000094	3,835.61
06/15/2008	40,804,358.72	0.000094	3,835.61
06/16/2008	40,673,040.78	0.000094	3,823.27
06/17/2008	36,424,644.83	0.000094	3,423.92
06/18/2008	36,177,829.89	0.000093	3,364.54
06/19/2008	36,238,005.60	0.000093	3,370.13
06/20/2008	34,984,044.32	0.000093	3,253.52
06/21/2008	34,984,044.32	0.000093	3,253.52
06/22/2008	34,984,044.32	0.000093	3,253.52
06/23/2008	34,560,961.91	0.000093	3,214.17
06/24/2008	34,797,268.97	0.000093	3,236.15
06/25/2008	35,283,367.67	0.000093	3,281.35
06/26/2008	36,243,173.31	0.000093	3,370.62
06/27/2008	37,875,373.87	0.000093	3,522.41
06/28/2008	37,875,373.87	0.000093	3,522.41
06/29/2008	37,875,373.87	0.000093	3,522.41
06/30/2008	40,160,721.97	0.000093	3,734.95
07/01/2008	40,479,726.22	0.000093	3,764.61
07/02/2008	41,694,757.49	0.000094	3,919.31
07/03/2008	46,104,104.80	0.000094	4,333.79
07/04/2008	46,104,104.80	0.000094	4,333.79
07/05/2008	46,104,104.80	0.000094	4,333.79
07/06/2008	46,104,104.80	0.000094	4,333.79
07/07/2008	46,278,402.35	0.000094	4,350.17
07/08/2008	45,217,185.26	0.000094	4,250.42
07/09/2008	45,576,159.22	0.000096	4,375.31
07/10/2008	45,902,321.57	0.000096	4,406.62
07/11/2008	46,185,762.00	0.000096	4,433.83
07/12/2008	46,185,762.00	0.000096	4,433.83
07/13/2008	46,185,762.00	0.000096	4,433.83
07/14/2008	44,550,289.97	0.000096	4,276.83
07/15/2008	44,364,508.72	0.000096	4,258.99
07/16/2008	44,011,977.67	0.000096	4,225.15
07/17/2008	43,481,013.70	0.000096	4,174.18
07/18/2008	39,124,469.36	0.000096	3,755.95
07/19/2008	39,124,469.36	0.000096	3,755.95
07/20/2008	39,124,469.36	0.000096	3,755.95
07/21/2008	37,919,217.77	0.000096	3,640.24
07/22/2008	38,185,879.80	0.000096	3,665.84
07/23/2008	37,953,302.67	0.000095	3,605.56
07/24/2008	37,325,694.17	0.000095	3,545.94
07/25/2008	38,107,431.85	0.000095	3,620.21
07/26/2008	38,107,431.85	0.000095	3,620.21
07/27/2008	38,107,431.85	0.000095	3,620.21
07/28/2008	38,618,993.73	0.000095	3,668.80
07/29/2008	39,704,544.95	0.000095	3,771.93
07/30/2008	43,118,575.62	0.000095	4,096.26
07/31/2008	42,547,504.57	0.000095	4,042.01
08/01/2008	42,749,139.12	0.000095	4,061.17

Date	A/R Balance	Daily Carrying Cost Charge	Carrying Cost Charge
08/02/2008	42,749,139.12	0.000095	4,061.17
08/03/2008	42,749,139.12	0.000095	4,061.17
08/04/2008	49,783,980.84	0.000095	4,729.48
08/05/2008	49,309,793.66	0.000095	4,684.43
08/06/2008	49,132,574.57	0.000095	4,667.59
08/07/2008	49,598,591.79	0.000095	4,711.87
08/08/2008	49,795,530.76	0.000095	4,730.58
08/09/2008	49,795,530.76	0.000095	4,730.58
08/10/2008	49,795,530.76	0.000095	4,730.58
08/11/2008	48,108,670.05	0.000095	4,570.32
08/12/2008	46,683,066.79	0.000095	4,434.89
08/13/2008	46,766,196.11	0.000096	4,489.55
08/14/2008	46,024,858.26	0.000096	4,418.39
08/15/2008	45,701,956.43	0.000096	4,387.39
08/16/2008	45,701,956.43	0.000096	4,387.39
08/17/2008	45,701,956.43	0.000096	4,387.39
08/18/2008	44,726,178.22	0.000096	4,293.71
08/19/2008	38,231,482.51	0.000096	3,670.22
08/20/2008	37,371,834.11	0.000095	3,550.32
08/21/2008	36,392,688.83	0.000095	3,457.31
08/22/2008	36,323,324.32	0.000095	3,450.72
08/23/2008	36,323,324.32	0.000095	3,450.72
08/24/2008	36,323,324.32	0.000095	3,450.72
08/25/2008	35,957,692.09	0.000095	3,415.98
08/26/2008	36,766,839.21	0.000095	3,492.85
08/27/2008	37,236,227.36	0.000095	3,537.44
08/28/2008	39,051,228.29	0.000095	3,709.87
08/29/2008	39,094,279.64	0.000095	3,713.96
08/30/2008	39,094,279.64	0.000095	3,713.96
08/31/2008	39,094,279.64	0.000095	3,713.96
09/01/2008	39,094,279.64	0.000095	3,713.96
09/02/2008	38,462,442.61	0.000095	3,653.93
09/03/2008	39,510,301.89	0.000095	3,753.48
09/04/2008	44,091,912.34	0.000095	4,188.73
09/05/2008	43,671,149.02	0.000095	4,148.76
09/06/2008	43,671,149.02	0.000095	4,148.76
09/07/2008	43,671,149.02	0.000095	4,148.76
09/08/2008	44,046,776.18	0.000095	4,184.44
09/09/2008	43,207,925.30	0.000095	4,104.75
09/10/2008	42,184,870.97	0.000096	4,049.75
09/11/2008	41,997,884.85	0.000096	4,031.80
09/12/2008	41,506,687.66	0.000096	3,984.64
09/13/2008	41,506,687.66	0.000096	3,984.64
09/14/2008	41,506,687.66	0.000096	3,984.64
09/15/2008	41,045,087.09	0.000096	3,940.33
09/16/2008	40,838,932.26	0.000096	3,920.54
09/17/2008	39,941,532.97	0.000096	3,834.39
09/18/2008	39,806,912.94	0.000096	3,821.46
09/19/2008	33,867,365.49	0.000096	
09/20/2008	33,867,365.49	0.000096	3,251.27
<u> </u>		**************************************	3,251.27
09/21/2008	33,867,365.49	0.000096	3,251.27

Date	A/R Balance	Daily Carrying Cost Charge	Carrying Cost Charge
09/22/2008	33,113,172.90	0.000096	3,178.86
09/23/2008	31,237,539.56	0.000096	2,998.80
09/24/2008	31,235,913.97	0.000101	3,154.83
09/25/2008	32,114,217.64	0.000101	3,243.54
09/26/2008	33,033,024.15	0.000101	3,336.34
09/27/2008	33,033,024.15	0.000101	3,336.34
09/28/2008	33,033,024.15	0.000101	3,336.34
09/29/2008	35,520,919.12	0.000101	3,587.61
09/30/2008	35,708,379.72	0.000101	3,606.55
10/01/2008	35,428,485.98	0.000101	3,578.28
10/02/2008	40,718,053.24	0.000101	4,112.52
10/03/2008	40,686,008.12	0.000101	4,109.29
10/04/2008	40,686,008.12	0.000101	4,109.29
10/05/2008	40,686,008.12	0.000101	4,109.29
10/06/2008	40,712,381.05	0.000101	4,111.95
10/07/2008	41,022,551.69	0.000101	4,143.28
10/08/2008	41,063,903.35	0.000107	4,393.84
10/09/2008	40,645,767.41	0.000107	4,349.10
10/10/2008	40,786,765.35	0.000107	4,364.18
10/11/2008	40,786,765.35	0.000107	4,364.18
10/12/2008	40,786,765.35	0.000107	4,364.18
10/13/2008	40,250,876.90	0.000107	4,306.84
10/14/2008	40,661,595.73	0.000107	4,350.79
10/15/2008	39,359,653.68	0.000116	4,565.72
10/16/2008	35,524,858.98	0.000116	4,120.88
10/17/2008	35,619,429.08	0.000116	4,131.85
10/18/2008	35,619,429.08	0.000116	4,131.85
10/19/2008	35,619,429.08	0.000116	4,131.85
10/20/2008	34,674,928.15	0.000116	4,022.29
10/21/2008	34,564,524.03	0.000116	4,009.48
10/22/2008	33,325,698.85	0.000116	3,865.78
10/23/2008	33,681,833.82	0.000118	3,974.46
10/24/2008	34,856,497.08	0.000118	4,113.07
10/25/2008	34,856,497.08	0.000118	4,113.07
10/26/2008	34,856,497.08	0.000118	4,113.07
10/27/2008	35,177,497.08	0.000118	4,150.94
10/28/2008	37,786,644.88	0.000118	4,458.82
10/29/2008	39,384,543.95	0.000121	4,765.53
10/30/2008	40,199,889.23	0.000121	4,864.19
10/31/2008	42,003,352.54	0.000121	5,082.41
Average	39,995,375.44	0.000123786	

Average Annual 4.4563% Carrying Cost Rate

ES FORM 3.15

KENTUCKY POWER COMPANY - ENVIRONMENTAL SURCHARGE REPORT CURRENT PERIOD REVENUE REQUIREMENT BIG SANDY PLANT COST OF CAPITAL

For the Expense Month of XXXXXXX XX, XXXX

LINE NO.	Component	Balances	Cap. Structure	Cost Rates		WACC (Net of Tax)	GRCF		WACC (PRE-TAX)
		As of 10/31/2008							•
1 2	L/T DEBT S/T DEBT ACCTS REC	\$450,000,000 \$68,207,639	46.274% 7.014%	6.08% 3.52%		2.81% 0.25%			2.81% 0.25%
3 4	FINANCING C EQUITY	\$39,995,375 \$414,267,048	4.113% 42.599%	4.46% 10.50%	1/	0.18% 4.47%	1.5773	2/	0.18% 7.06%
5	TOTAL	\$972,470,062	100.000%			7.71%			10.30%
1/		nted Average Co on Common Equ		. 2007 - 000381					
2/	Gross Revenue	Conversion Fac	ctor (GRCF) Calc	culation:					
1 2	OPERATING R UNCOLLECTIE	REVENUE BLE ACCOUNTS	EXPENSE (0.29	9%)			100.0000 0.2900		
3 4		LE PRODUCTIC IE TAX EXPENS				-	99.7100 5.6452		
5 6	FEDERAL TAXABLE PRODUCTION INCOME BEFORE 199 DEDUCTION 199 DEDUCTION PHASE-IN						94.0648 5.6236		
7 8							88.4412 30.9544		
9	AFTER-TAX PRODUCTION INCOME					57.4868			
10 11 12 13	1 AFTER-TAX PRODUCTION INCOME 2 199 DEDUCTION PHASE-IN					57.4868 5.6236 0.2900	-		
14	TOTAL GROSS	S-UP FACTOR F	OR PRODUCTION	ON INCOME (R	OUN	DED)	63.4004		
15 16 17 18	FEDERAL (LINE 8) STATE (LINE 4)					30.9544 5.6452 36.5996			
19	GROSS REVENUE CONVERSION FACTOR (100.0000 / Line 14)					1.5773			
1 2						100.0000 0.2900			
3 4	STATE TAXABLE PRODUCTION INCOME BEFORE 199 DEDUCTION LESS: STATE 199 DEDUCTION					99.7100 5.6236			
5 6	STATE TAXABLE PRODUCTION INCOME BEFORE 199 DEDUCTION STATE INCOME TAX RATE					94.0864 6.0000			
7	STATE INCOME TAX EXPENSE (LINE 5 X LINE 6)						5.6452		

KPSC Case No. 2009-00038 Commission Staff 1st Set Data Requests Order Dated February 12, 2009 Item No. 11 Page 22 of 22

Kentucky Power Company Uncollected Accounts

Line No. (1)	Description (2)	Electric Revenues (3)	Accounts - Net Charged Off (4)	Percent of Electric Revenues (5)
1	12 Months Ended 10/31/2006	\$386,887,275	\$1,274,677	0.33%
2	12 Months Ended 10/31/2007	\$405,928,176	\$1,233,519	0.30%
3	12 Months Ended 10/31/2008	\$450,077,589	\$1,065,411	0.24%
4	Total	\$1,242,893,040	\$3,573,607	0.87%
5	Three Year Average	\$414,297,680	\$1,191,202 =========	0.29%

VERIFICATION

COMMONWEALTH OF KENTUCKY)	
)	CASE NO. 2009-00038
COUNTY OF FRANKLIN)	

The undersigned, **Errol Wagner**, being duly sworn, deposes and says he is the Director of Regulatory Services for Kentucky Power Company, that he has personal knowledge of the matters set forth in the foregoing testimony, and the answers contained therein are true and correct to the best of his information, knowledge and belief.

ERROL K. WAGNER

Subscribed and sworn to before me, a Notary Public in and before said County and State, this 20th day of March 2009.

Hely H Rosquest (SEAL)
Notary Public

My Commission Expires:

January 23, 2009